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DO1

R SN ES™ 1f _DENF, STEXP  MACYIL 277320 03-SEP-7H i4:10 PAGE 2
R 18 S
o
iy FELL BASIC INSTRUCTION TEST DCFPA - OCFPL PAGE 3
et DESCRIPTION
i 1 ABSTRACT
ik THESE PROGRAIS TEST THE FPoL IN AL MCIES WI'W FI/EC. NJVBES
L9 PATTERNS.  THE PROGRANS 3 OULL RUN o OBCER F AT JEaE°
. : 2 Pr WITH SWIT & 00N,
2i8 z. EGUIPEMENTS
2
3 .. E3LIPMENT
k] BDP11/45 STANDARD CCMPLTER wITw FFLL IBTIIN
L)
55
T z.2 STORAGE
§§é PROGRAM STCRAGE - THE RCL™INES .SE “EMCFY 2 - 1™°7%
32
i 2.2 PRELIMINARY PROGRAMS
k) NONE
>
<2
33; 3. LZADING PROCEDURE
g.g USE STANDARD PROCEDURE FOR ABS AFES.
e
.32 94, STRRTING PROCEDURE
-=2
;Eg 4.1 CON"ROL SHITCH SETTINGS
s SEE 5.1.1 (ALL DOWN FOR WORST CRSE TESTING:
-
2=3 4.2 STRRTING ADDRESS
g’; THE PROGRAM SHOULD ALWAYS BE STRRTED AT 22C.
LEd 4.2 PROGRAM AND/OR OPERATOR RCTION
iEE 1) LOAD PROGREH INTO MEMCRY USING R85 LODER.
12 2: LOAD RODRESS 200,
i€z 3) SET SWITCHES .SEE SEC 5.1.1) ALL COMN FOR WORST CASE
‘ES 4] PRESS START. R ~
it S. THE PROGRAM WIL. LOOP AND BELL WILL RING CNCE EVERY PRSS
22 £, & MINIMUM OF TWG BASSES SWOULS ALWAYS BE RUN.
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o, '\’E; samilFBa-E TEST JF LJEWP, STEXP MACY1l 27(732) 03-SEP-76 14:10 PAGE S

]
.L. r- e d

TS IhNAIBIT TYPEOLLTS, PUT SWeldy QW A L.

1gs
i$5 FPis BASIC INSTRUCTION TEST DCFPA - DCFPL PAGE <

1EE DESCRIPTION

158

.23 DATA DISPLAY SWITCH TO THE DISPLAY PISITION. .

ii €. OPERATING PROCEDURE

- 5.1 OPERATIONAL SWITCH SETTINGS

Sy AT SA 200 .. ALL SWITCHES DOWN IS WORST CASE TESTING. _IF
B AN "ERROR "OCCURS, THAT TEST WILL BE LOOPED UPON UNTI.
i°5 COMPLETION OF oSk CCNSECUTIVE PRSSES WITH NC ERRCAS. OF 1o
182 SUBTEST iF SW<3 SET R 1. THE BELL WIL. RING UPI%
181 COMPLETION OF R PASS.

182

i3

183 S.1.1  SWITCH SETTINGS APE:

18¢ SWi = ! ..., HALT ON ERRCR

187 15 =1 SCOPE_LOGP

iEg <13, = 1 [1000 INMIBIT PRINTOUT

18 Sl =1 ...00 INHIBIT TRACE TRAPPING

192 Swell> = 1 ..... INHIBIT ITERATIONS OF S_BTEST

i8] Swelf, = 1 J1000 BELL ON ERROR

182 o IR BELL ON PRSS COMPLETE

293 Sweddr = 1 ..., LOCP ON ERROR

194 Swl8 =1 1l LOJP ON TEST IN SWe7:D>

1% ... LCAD SW«7:D> INTG UB REZISTER

197

198 5.2 SLBROLTINE ABSTRAC™S

198

s S.2.1  3COPE

Ewe

Flar THIS SUBROUTINE CALL IS PLACED BETWEEN EACH SUBTEST IN Taf

g3 INSTRUCTION "SECTION. 1T "RECORDS THE STARTING ADDRESS CF

e ERCH SUBTEST AS IT IS BEING ENTERED IN LOCATION “LAD®. If &

e SCOPE LOOP IS REQUESTEC, THE CURRENT SUBTEST WILL BE LOCPEZ

2% UPON. SWcll>"ON A I INWIBITS ITERATION OF SLBTESIS. “ut
27 CONTENIS OF _LAD MRY BE USED 70 DETERMINE THE A2+ &Leres®

E:S SUCCESEPULLY SCMPLETED.

Ew

g3 ..

9 £.2.z HLY

£.2

i3 THIS_ROUTINE PRINTS QUT AN ERRCR MESSAGE .SEE 5.1.: IF A =7
3 1S EXECUTED, THE SJBTEST WIL. BE LOJPEC =3~ AT 288
E:% CONSECJTIVE 40Co PASSES ARE COMPLETED IF Swish 13 v 'm L.
£k

c.g

- — ten e A -



GOl

iy SEISRAS EST OF LDEVF, STEXP  MACYIL 27(732) (03-SEP-76 i4:10 PAGE &
z.9
223 FP11 BASIC INSTRUCTION TEST DCFPA - DCFPL PAGE S
i DESCRIPTION
253
sad .2.3  TRTRAP
EE IF Sucl2: IS ONA O, THE T BIT WILL BE SET ON ALTERNATE
EE 337 1T CRUSES A TRRP &F TER EACH INSTRUCTION,
=22 TE FTRsT INGIROETHoN EXECUTED UPON TRAPPING 18 "GN =R
333 MHICH. RETJRNS To THE INTERRUPVEC SEQUENGE OF 19578.C"7os.
33 THIS SEQUENCE 1S CONTINUED UNTIL THE END OF THE PRCGRAMT 22
N RERCHED
35
ggg £.2.4  TRAPCATCHER
S A ".42" - “WAL™™ SEQUENCE IS REPERTED FROM 2 - 778 2 ZA™(k
237 Ay S NEXPECTED ©TREPS. IHCG. ANy UNEXBECTEL. ERPS F
£38 TNTERUPTS WILL HALT AT THE VECTCR + 2.
24¢
241 $.2.5  FLOATING PCINT TRAP (TG 244)
43 THE FP11 INTERRUPT DISABLE BIT IS ALWAYS SET IN ALL OF THESE
244 TESTS (EXCEPT DCFPA) SO NG TRAPS TO 244 SHOULD OCC.R. IF a8
- INTERRUPT OCCURS, THE PROGRAM WILL HALT AT 7Bb IN ~-E
it ROUTINE CALLED FLTERR AND DISPLAY THE FPS RESISTER IN RC.
248 .
249 €. ERRCRS
ZEV
282 £.2 ERRCR PRINTOUT
£9&
g3 THE FORMAT I3 AS FOLLCMWS:
ZEE RCR_ FPS_ANS1 ANSZ ANS3 ANSH ANSS ANSE ANST AneB
£E7 FEC FER
258
853 - WHERE :
2E3
gt} ACR = ADDRESS OF ERROR HLT
gtz €FS = FLOATING POINT STATUS
263 FEC = FLORTING EXCEPTION CODES (ERROR ZOCES)
2E4 FER = FLORTING EXCEPTION ADDRESS \ERRUR ADDRESS)
gES ANS1-8 = ERROR DATA READ FROM THE FPLL.  FROM 0-3 f T-ESE
ZEE MAY BE TYPED DEPENDING ON THE NUMBER FOL.CWING “HE
£t7 HLT; 1.E., HLT+3 WOULD TYPE ANS1-ANS3.
ZE9 TS FIND THE FRILING TEST, LOOK AT THE LISTING AEME TeE
£ RCCRESS TYBED.
272
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ga C=11-DCFPR-B *EST OF LDEXP, STEXP  MACYIl 27(732) O03-SEP-7& i4:10 PAGE 7
~3
~y FF11 BRSIC INSTRUCTION TEST DCFPAR - DCFPL PAGE &
s DESCRIPTION
§-2
ggg 8.2 ERROR RECOVERY
o RESTART AT 205
282
83 7. RESTRICTIONS
zey
Zgc NONE
o
28 8. MISSELLANECUS
289
330
ggé 8.1 EXECJTION TIME
sga A BELL WILL RING WITHIN 15 SECONCS WI™ AL, SWITCHES oM.
285
sgg g.2 STACK POINTER
258 STACK IS INITALLY SET T4 600
295
300
gg: c.2 FOWER FAIL
3C3 EACH TEST CAN BE POWER FAILED WITH NO ERRORS EXCEPT 3N THE
304 FEC AND FEA. 7O USE, START THE TEST RS LSUAL ANG FSWER OCuh
30 THEN UP AT ANY TIME. THE PROGRAM SmOULD TYPE “FLWER™ &MC
30 ~ONTINUE TO RUN WITH NO OTHER TYPEOUTS
358 -
309 3. PROGRAM CESCRIPTION

THESE PROGRAMS TEST ALL THE INSTRUCTIONS ON THE FPLIl IN ALl
MODES. _ EACH PROGRAM HAS MANY SUBTESTS (THE CODE BETWEEN 2
SCOPE STATEMENTS) WHICH ARE RUN 256 TIMES BEFORE CONTINLING
TO THE NEXT. SW<1l> ON A 1 CAUSES EACH SUBTEST TO BE RUN
ONLY ONCE. SW<9> ON A 1 ENRBLES LOOP ON ERROR. THE RODRESS
ICNT (LOC 1000) AND DISPLRY REGISTER ON THE 11-45 EARZH
CONTAIN THE ITERATION COUNT IN THE LEFT BYTE AND THE TEST
NUMBER IN THE RIGHT BYTE. ALL THE SUBTESTS SHOULD BE RUMN
SEGUENTIALLY BY STRRTING AT 200 NOT BY STARTING RT_THE
BEGINNING OF THE SUBTEST. TO LOOP ON R PARTICULAR SUBTEST
PLT THE TEST NUMBER (SEE LISTING) IN _THE RIGHT BYTE OF THE
SWITCH REGISTER AND SW<B> ON R 1. THIS TEST WILL BE LOJPEC
JPCN UNTIL SW'8> IS PUT ON R O OR THE RIGHT BYTE IS CHANGEZ,
IF THE TEST IS NON-EXISTANT, THE PROGRAM WI_L BE RuUM mS
Eg§gﬁL.

(CU T IRV NIV IV TN SOV TN VIOV PN L PR RN T TN )

TUTUTUNOTUNIINDS <9 2bcpop shodab P =p o
UL (I (1D ~ UL L VI (D
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%Y 1 27(732> 03-SEP-76 14:10 PRGE 8

MRINDEC =L i=00FPN-3 CEST OF LOEXP, STEXP M Té

A
NAEDE R S.T7om SPTISNS PND ERROR B

.TITLE MAINDEC-11-DCFPK-8 TEST OF LDEXP arsyp
:COPYRIGHT 1972. DIGITAL EQUIPMENT CORP., MAYRARD, MASS
:Eggcnnn 8Y KEN CHAPMAN

. #*

SWITCH USE

- LORD UB REGISTER WITH SW«7:0/
- LOOP ON TEST IN SW¢7:0:
00P ON ERROR
ELL ON PRSS COMPLETE
- BELL ON ERROR

e

Pt -t ps e
N LwWus-—- D

OUTPUT FORM:
RDR_FPS_ ANS1 ANS2 ANS3 ANSH ANSS ANSE ANS7 mNSE
FEC FER

FPS FEC

BIT REASON COCE ERROR

0 CRRRY C ADDRESS ERROR
QVERFLOW e OPCODE ERRGR
ZERQ 4 DIVIDE BY ZERQ
NEGRTIVE & CONVERSION ERROR
MAINTRINANCE MCDE 13 OVERFLOMW
TRUNCATE MODE 12 UNDERFLOW
LONG INTEGER MODE 14 UNJEF INED VARIA3_E .-C.
DOUBLE PRECISION MODE 34 UBREAK TRAP

INTERUPT ON CONYERSION ERROR
INTERUPT ON OVERFLOMW

INTERUPT ON UNDERFLOW

INTERUPT ON UNDEFINEC VARIABLE

INTERUPT DISRBLE
ERROR F_RG#

N LWL ODMONIUN £ WMy e-—-

bapoapapahpap s
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MAINDEC-11-DCFPR-B TEST OF LDEXP, STEXP  MACY1l 27(732) 03-SEP-76 14:10 PAGE 9
DIFPKE.PLL MACRO'S AND ASSIGNMENTS
. r.ismaan. ABS
o I
17785 SWR= 17787
17767 DISPLAY=SWR
104400 SCOPE= TRAP
104000 HLT=  EMT
290004 TYPE: 107
353580 FhEtT 73
960005 RO= %0
200001 Rl= %1
000302 R2= %2
000003 R3= %3
000004 RY4= %4
00030 RS= %5
000005 *y= B
000006 SP= 7
900007 PC= 47
000000 A%0= 0
300001 ACl= 1
000002 -
G30C03 A3z 43
0000624 ACH= 4k
600005 as= %5
100000 SWis= 100600
040202 SWid=  400CC
020000 SWi3= 20000
110000 §il2= 10000
0C4000 SWll= 4000
002000 Su10= 2000
801000 SW09= 1000
000460 5iW08= 400
170003 LDUB= 170003
170005 STRO= 170005
170007 STG0= 170007
170008 MRS= 170006
170004 LDEC=  170C04
000000 .z 0 : TRAP CATCHER FACM G - 776
000200 .= 200
nN0200 000167 000622 IMp BEG
000760 .z 760
030780 170200 FLTERF: STFPS  FPS
CC7ee 1703E7 0COC3H gs7”  FES
SER766 000000 HALT
FRE270  A60A03 RTI



MRINDEC-11-DCFPA-B

DIFPKR.P

11

001000
821202

QIO O0000
OO0V OHO00

801026
321032
Q01040
J01044
001082

J010S4

CQi06e
001070
CC1074
031102
001110
031116
001124

BoAREE

000000
000000
000000

0000300
000000
030000
000000

012706
012737
005737
012767
000403

C16737
12737
iE?US

0

g
012737
012777
9]
0
0

gosde7

TES™ OF LDEXP, STEXP
SET.P AND ANSWER ARER

000eQ0
001054
177772
0CCCOb

010506

000006
000600
010424
0lieeM
0003440
011404
000030
010566
000340
010426
000340
000760
000340
177610
10414

00aco4
007352

800C1C

00000u

000014
010464
C10460
000223

IENT:
ANS]:

Milegd:

BEGIN:

KOl

MACY1L 27(732) 03-SEP-76 1Y4:10 PAGE 10

6000

(@ e lmlotlonlos mlon]om o)

:ITERATION COUNT - LH  TEST NO. - FH
;FIRST ANSWER (SEE CCOE)

:FLOATING EXCEPTION CODES
‘FLOATING EXECPTION ACDRESS
607, SP - #% STACK AT B00 ##
$M1120, and 'FIND OUT WHICH MACHINE THIS IS
177772 :1S PIRQ THERE?
5, YESRT :FUDGE It RTT IF 11/45
BEGIN
FPTADR, %10 :LOAD THE ILLEGAL INSTRUCTICN VECTSR

. WITH THE ADDRESS OF THE FFPU.
: THE FPU WILL HANDLE THE BRD OPCODES

26, 244 RESET 4
650, SP
8YESRT, 3#1d4 :SET TRACE TRAP VECTOR

$POWDWA , SDWNVEC
340, aDUNVEC+2

s. 10}, 9820 :SET UP VECTOR 20
£30, R0 :SET RO TO VECTOR 30
. TRP, (D)+ :SET EMT VECTOR

£340, 10)+

e.eMY. (004 -SET TRAP VECTOR
£340, {0)

sFLTERR, FPVECT ;LOAD INTERUPT VECTOR
§g:9,ar¢vsc7+a :LOCK UP PROCESSOR

LAD



001230

001232
aCl1236
CClesy
J01246

031250

001256
001280

08i262
00126+

0Cieee
Q01272

001276
0u1302

0C1316
031320

C01336
Ci3d4
SCi34e

104400
000402

025252

170127
172667
176627
170200
022700
001401
104000

174267
022767
001401
104002

022767
0021~
10500¢

1J4400
002402

137777

170127
172567
1765¢7

104000

1741E7
022767
CCi401
104002

022767
c014301
10400¢e

TEST OF LDEXP,
TES™ SECTION

12525¢

047417
177764

0R0QAC
§
Q47400

177544

040052 17753b

125252 177526

177777
047417
177764
00SC0s

47410

177456
IN1377 177450

177777 177440

STEXP  MACY1! 27(732) 03-SEP-76 I4:10 PAGE 1l
'I'll'!il!iii!iilll!li*lilﬂliiillll!illlli!lll!i!l*!l}lli*i*l*l****l*i*!f!*
: TEST TEST ESE*P (ggng EXPONENT) 58 énc MGDE
: 000000 -=> 02 » oqoosé 1
FPS = Q47400 shc = M2-
*#*{-*iii***!**i******il!li*!*ll***ill*!**i*************ii*ii**iii(ifii}
SCOPE
BR TST1
DAT1: 025252, 125252
TST1: LDFPS  #O47417 :LOAD FLOATING POINT STATLS
LDF DATL, AC2 :LOAD 025252, 125252 INTO ACe
FPIl: LDEXP  #000000,AC2 :LORD 000000  INTO THE EXPONENT GF ACZ
STFPS  FPS :STORE FLOATING POINT STATLS
CMP 047400, FPS :CHECK FLOATING POINT STATUS
BEG .4y :BRANCH IF OK
HLT FPS NOT EQUAL TO 047400
STF AC2 ANS] : STORE nca INTO ANS1,ANS2
CMP uDHﬁDSE ANS1 :CHECK ANS
BEQ +4 :BRANCH IF o
HLT+2 ‘ANS1 NOT EQUAL TO 040052
CMP 8125252, ANS2  ;CHECK ANS2
BEQ .44 'BRANCH IF OK
HLT+2 :ANS2 NOT EQUAL TO 125252
SEEERERERFERERREEREREEFREREERE R R LR RELERRFRERREERFRERRERELF R R LEF TR LSS
:TEST 2: TEST LOEXP (LORD EXPONENT), FLORTING MOOE
; 000095 --> 137777,177777 ==> 14137%,177777
; FPS = 047410, SRC = M2-R?7, AC = ACI
H *i*#********i**************i****ii**i*******i***ifii**i*ii*!it*iii*ti*f
SCOPE
BR 1572
DRT2:  137777,177777
TST2:  LDFPS 8047417 :LOAD FLOATING POINT STATUS
LDF DAT2,  ACI ‘LORD 137777,177777 INTO AC!
FPI2: LDEXP  #000005,AC! :LORD 00000S’ INTO THE EXPONENT OF ACl
STFPS  FPS :STORE FLORTING POINT STATUS
cHP lDH?HlU,FPS :CHECK FLORTING POINT STATUS
BEQ .44 *BRANCH IF OK
HLT :FPS NOT EQUAL TG 047410
TF ANS] :STORE ACL INTG ANSI,ANS2
CHP :1413?7 ANS1 'SHECK ANSI
3E3 'BRANCH IF OK
RoT+2 :ANS1 NOT EGUAL TO 141377
CMF 8177777 ANS2  ;CHECK ANS2
BEQ g “RHNCH IF 0K
HLT+2 :ANS2 MOT EQUAL TO 177777

- e o ——————— —— -



- MRINDEC-i1-DCFPK-B

DCFPRB.PILL

201378
0C140¢
001404

031406
gei4le
001420
001422

051424
00143c
001434

001436
C01440

0C1442

001446
081452
001456
CGikE2
O014EY
GO1470
001472

001474
£01s00

104400
000402

060000

170127
172667
126627
170200
02275G
001401
104000

174267
02e767
001401
10400

022767
001401
104002

104400
0CC40e

0000C0

170127
172667
176627
170200
022730
001401
104000

174267
022787
0C140)
104002

022767
CO140C:
104202

MOl

TEST OF LDEXP, STEXP  MACYL: 27(732) 03-SEF-76 14:10 PASE 12
TEST SECTION
RIS I SIS 2SI ITILILILILIILLILILISLLILLZOZLZLSZ 22222222 2 ]
:TEST 3: TEST LDEXP (LORD EXPONENT), FLORTING MODE
; 177601 --> 00O0O0C, 000000 ==> 00020f, 060000
: FPS = Q47400, Sko = M2-R7 AC = AC2
: i**!!iil*!!!!f’i.‘i!ill*!!il!!!!!l!illll!illilf!{l{li!ili!li!ii*i!lifiil
SCOPE
BR 1573
000000 DAT3:  000000.000000
047417 T5T3:  LDFPS 8047417 -1 0AD FLORTING POINT STATUS
177764 LDF DAT3, AC2 :LOAD 060003, 060000 INTO AC2
17760! FPI3: LDEXP #177801.ARC2 :LOAD 177601 INTO THE EXPONENT GF ACZ
STFPS  FPS :STORE FLOATING POINT STATUS
047450 CNP 047407, FPS tCHECK FLOSTING POINT STATUS
BEQ et :BRANCH IF 0K
HLT :FPS NOT EQUAL TO 047400
177378 STF Ace GNS1  ;STORE AC2 INTG ANSI,ANS2
000200 17732 CMF 8000200,ANS1  3CHECK ANSY
BEQ pee :BRANCH IF 0K
HLT+2 "ANS1 NOT EQURL TO 000230
000000 177352 CMP #000000,ANS2  ;CHECK ANS2
BEQ . +4 BRANCH IF OK
HLT+2 :ANS2 NOT EQUAL TO 0000CO
CERAREEFRREARFRREREFERZEELERELERRREREREEEERREER SRR EXEERERARRE R LR EREL2EE
: TEST N: TEST LDEXP {LOAD EXPONENT), FLOATING MCDE
: 0G31?7 --» 00C000,000000 ==> 0776008, 000000
: FPS = O4740C, SRC = M2-R7 AC = AC2
H FEREREEERTERELE ii*i*i‘liiliii**i!i!!i**!**i!*!*!li**i!i**i****i!-!*:Hi***-}
SCOPE
BR TSTY
000009 DATY:  00GG00, 000000
o47517 TST4:  LOFPS 8047417 :LOAD FLOATING POINT STATLS
177764 LOF DATY,  AC2 :L0RD 000000,000000 INTO AC2
000177 FPI4: LDEXP  #000177,AC2 LOAD 000177 INTO THE EXPONENT OF RC2
STFPS  FPS :STORE FLOATING POINT STATLS
J474G0 CMP 047400, FPS :CHECK FLOATING POINT STATUS
BEG pe :BRANCH IF 0K
HLT :FPS NOT EGUAL TC 047400
177308 STF Ac2 ANSI  ;STORE AC2 INTO ANSI,ANS2
077600 177274 CMe $077600,ANST  :CHECK ANS!
BEQ .+ :BRANCH IF OK
HLT+2 :ANS1 NOT EQUAL TO 077600
000000 177284 CMP 8000000, ANS2  ;CHECK ANS2
BEQ +4 :BRANCH IF OK

ALT+E :ANS2 NOT EQUAL TG, 00OCGC

Chm A it b ——— -— - -




001524
631528

0C1530

001534
801540
001544
031550
001552
001556
001560

001562
0C1566
GO1574
001576

001600
CO1&08
001&10

COlkle
CO1giM

0C0leib

N01622
001626
001632
001636
001640
001644
001646

001650
0C1654
00leke
001664

201668
001674
cClE7E

1044C0
20C402

040008

170127
172467
176427
170200
022700
001401
104000

174067
022767
001401
104002

0227867
001401
104002

104400
00o402

125252

170127
172487
176427
170200
022700
001401
104000

174067
022767
00140}
104002

022767
001401
10400¢

NO1

TEST OF LDEXP, STEXP  MACY1l 27(732) 03-SEP-76 14:10 PAGE 13
TEST SECTION
*!!*!!iili*!!**!***li***i!*!!!**i!!*!»H'li*i***l!****i*!lili*!f!i*ﬂ»i’fi
:TEST S: TEST LDEXP (LOAD EXPONENT), FLOATING MCDE
; 177777 --> 040000,000020 ==> 037600,000020
; FPS = 047400,  SRC = M2-R? AC = ACO
; Hr!l**l*i**{!**i***i**!'!*i*i****i*i**!*ili**!*****i**i*liii*li*i!!!*i*i
SCOPE
BR 1575
000020 DATS:  Q40000, 000020
047417 TSTS:  LDFPS  #047417 :L0AD FLOATING POINT STATUS
177764 U OF DATS,  ACO *LOAD 040000,000020 INTO ACO
17777 EPIS: LDEXP  #177777.ACO 'LCAD 177777 INTO THE EXPONENT OF A0
STFPS  FPS :STORE FLOATING POINT STATUS
047400 CHP #047400, FPS : CHECK FLORTING PCINT STATLS
BEQ .44 :BRANCH IF ¢
HLT -FPS NOT EQUQL T0 047400
177214 STF ACO ANS]I  :STORE nco INTO ANSI,ANS2
037600 177208 CHP aoa?eon ANSI  :CHECK ANSI
BEQ :BRANCH IF OK
HLT+2 :ANS1 NOT EQUAL TO 037600
000020 177176 CMP $000020,ANS2  ;CHECK ANS2
BEQ _+4 *BRANCH IF OK
HLT+2 :ANS2 NOT EQUAL TO 000020
**l****i**l»!!**'l'!i****i****!*********i*i***il***!i*****i**i! $X%EE2EFEFE
:TEST b: TEST LDEXP (LOAD EXPONENT), FLOARTING MODE
: 177706 --> 125252, 125252 ==> 121452, 125252
: FPS = 047410,  SRC = Mz-R7 AC = ACO
'H-!**i*!*i**!l*****i*i*i**i*****{*‘**!-}**i*******l*i*****i******i**!***
SCOPE
BR 1ST6
125252 DATE:  125252.125252
O47417 TST6:  LDFPS  $047417 :LOAD FLOATING POINT STATUS
177764 , LDF UMiB, ACO :LOAD 125252, 125252 INTO ACO
177726 FPIB: LOEXP  #177705.AC0 :LOAD 177706 INTO THE EXPONENT OF ACC
STFPS  FPS :STORE FLOATING POINT STATUS
047410 cHP $047410,FPS :CHECK FLORTING POINT STATUS
BEQ et :BRANCH IF OK
HLT :FPS NOT EQUAL TO 047410
177128 STF ACO ANSI  ;STORE nco INTG ANSI,ANSZ
121452 17712C CMP alalqsa ANS1 ' CHECK ANS1
BEG :BRANCH IF OK
HLT+2 :ANS1 NOT EGUAL TO l2i4E2
125262 177110 CMP 8125252, ANS2  ; CHECK ANS2
BEG .+ BRANCH IF OK
HLT+2 ‘ANS2 MOT EQUAL TG 125252
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R ez T _TER, STERS MRI L ET TIZ L3-SERSTE e SL3E e
;QQOQQQ.OOQQOOQQOOOQQ0000’0000000004 o2 000000000090000‘000000000000
RSt sgc oENP JuRD EfC. . T FommTlng ClE
: 523,38 --. 082635,752525 =z "o '3 5232t
: FPS & o700, ‘h. = Mg-R7, o, =
:QOOOOOOOQQQQQQQQQQQQQQQi’f""""'tQQU"l.!i|-r::a14"""'130‘0‘0000’
il SCCPE
TXTeXT I0I4CC 3 15T
-a-~sL 05282%  J82SeS ~a"~.  082525,25252¢S
el Y-S PO vsv=.  LFPS  addTWlT . JAD F_ORTING PCINT S7a"_S
IBELT3 0 I°B6ET  L1TTTEM ol SR ACE '~oR0 182526,0625e8 IMNTC aaé i
SRi~37 (TebZT J0Ci3E cei~,  _SEfF  BCCC.3E.WIZ 13a0 D00135 INTO THE EXPIMENT IF Ri2
X=ioo4 170200 €¥cpg  SES LSYORE FLORTING PCINT STh™.S
ARi~5  02270C wrw2C Te Rl ot T2ECK SLOATING PTINT STRT.S
r;rgs ’386 3E s ey BRANCH I Ok
ik "R " FDg NOT EQUSL O QWML
97:T%  1MRET  LTTOWC g% WIZ.. "NSL ETORE IN"S ANC., NG
3cazgs gs ~er Op~32€ .°Tliz “me eOE2328 AnED DIHECK ANSS
17 141 8, .- TBRANCH iF X
SCi7E2 10400 " TeZ TANS! NCT ESURL O DBT33E
20,754 ~7 082828 (TTlie T 822635, SNSe s oHECK
alabts V- SPL o 3E & Lo BRANCH IF Or
SC1~e+ 1C=oCc - T ‘ans2 Mot EQUAL T 52525
;090000000000000000009609.0000!0”000!!00!!.0!.0000000!00000000000000000
tvgs” 1. TEST JUEMP .ORC EXPONENT;, FLORTING “CCE
: ANCEOC --  1e425, 128082 =) 153028, 128252
FBS = 4746, gh: : ng-n7. &= RO
: SE = iZ, & = FPIL2
;00000090000000000 .00000000000000000000009000.00§09§000§0000i6§09§91000
27i7EE 124400 go"
ZRia9C BEoel2 : :
~pi772  .40425 l2gzt2 TaTil
cniT7h 170127 QWTHL7 Tl el . . _JRD FLORTING PJINT STATJS
A3N02 170467 177754 F SR s 1750 140426, 125252 INIC ACS ...
nco00e 176427 20C20C FEIIZ. LoEXP  BLZZEIl.A.C :1 0D oooeog INTG THE EXPONENT IF AlC
0CP0i2 170290 7eey 5SS ;grgg FLOR %"" POINT STATLS
00sC14 170367 1770G2 2.sv”  FE- . (87 XCEPTICN CODES -
BR2050 (022700 1474lE “up glaT9l8, FPS :PWECK FLORTING POINT STAT.S
Fo4  0C1+31 265 o4 - BRANCH IF 3K
AZZCee 104000 v ‘FPS NOT EQUAL TO 1474l
rn2030 022767 0CC0IC  17ETES P 0.3,  FES . CHECK FLOATING EXCEPTION I30
2036 00142 € 5 o4 ‘BRANCH IF CK
=Z2040 104000 H.T ‘FEC NOT EQUAL 10 10
rrong2 022767 002006 17878 ™ WFF1.0, FEN .CHECK FLORTING EXCEPTICN WCTRESS
ZFZoe0 OOIMG. BES o4 'BRANCH IF Ok

FEZTES  (04IIC ne” ' ‘FEa MOT ESUA. TC FPILC
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TEST OF _DEXFP, STEXP MRCYLI 27.732) O03-SEP-76 i4:10 PRGE 1S
TEST SECTICN

b2
100028

125252

125252

7417
1777§4
177¢LC

175-'

L4749

STF el ANSI  :STORE ACO INTO ANSI,ANS2
CMF 8170025,.ANS1 Hsgc ;1
esg .+ . ;
HLT+2 1 NOT EQUAL TO i0002¢
CHP 8125252, AN52  ; CHECK nnsa
BE .44 :BRANCH IF 0K
HLTe2 :ANS2 Not EGUAL TO 125282
CERRRPRERRRRRRRERRR R RN R RRERRERRRERRADERARSFARERRFERERIRAEL522439800000%
:TEST 11: TEST LDEXP (LOAD EXPONENT:, FLOATING MJCE
: 177601 --> £S0S0S, 060505 ==> 000308, 50508
: FPS = D47400,  SRC = M2-R? AC = AC2
filliiil!iii!ii!iilill’ll!{lliiilfil!iiillllf§4§!i§40404445§00449440409
SCOPE
B8R 1571
DAT1.: 050505, 050505
TSTil: LDFPS  8Q47417 :LORD FLORTING PCINT STATUS
LDF DATIL, AC2 LOQD 050505, 050505 INTO RC2
FPI11: LDEXP  8177601.a%E 17750% INTG THE EXPCNEN™ -F 472
STFPS  FPS sronz FLORTING POINT STA’.S
e 8247400, F°S :CHECK FLOATING POINT S AT.S
<] 3] .4 BRQN&H IF 0K
HLT :FPS NOT E3UAL TO 047432
ke Ac2 ANS1  ;STORE AC2 INTO ANS.,ANSZ
oy 80Ch308, anS! :CHECK ANS]
BES e :BRANCH IF OK
ML T2 :ANS1 NOT EGUAL TC 230275
i 8050505, ANS2  ;CHECK ANS2
85 ,+4 :BRANCH IF OK
HLT+2 :ANS2 NOT EQUAL TO 0SCEle
i’fﬁiiliiii!iil!lliill!ilil!llillllill!iilili*iili!’lliiifi00090++000+9
:TEST 12: TEST LDEXP (LORD EXPONENT), FLORTING “oLE
; 177600 --> 040525 1asasa > coozeé.;asas=
: FPS = 147404, SRC = M2-R
; FEC = 12, FEA = rpx'a
.ifiiii!llil!llli!’l’iiiiliiilllfiilli!!!i’#llii’00!Qt§0§{f{tf¢¢f¢f’of‘0
SCOPE
BR 15712
CAT1Z: {43525, 1252582
TSTiZ: LCFPS  #047Mi7 -LOAD FLCATING PSINT S°R™LS
LOF DAT:2, Al :LGAD 040525, 128952 INTQ ACC N
FPIi2: LCExP #:77°880.ASC CORD 177660 INTO THE EXPINEN™ 2F &
STFPS rps :STORE FLORTING FOINT STRTLS
€7s*  FEC :8TCRE EXCEPTION CODES
ol B1<4TC, FFS CTHECY FosRTING POINT STATLS



02

N INDEC-11-DOFFn-B YES® OF LDEXP, STEXP  MACY.Ll 27732) 03-SEP-76 [4:10 PRGE 16
~2Epv B Rl TEST SECTION
203230 001421 BEQ e -BRANZH IF OK
352232 104900 HLT :FPS NOT EQUAL T0 147404
022234 022767 000012 1TESSC ¢MP 812,  FES +CHECK FLORTING EXCEPTION Z2C
JJcade 001401 BEQ . +4 :BRANCH IF OK
SJcowd 104000 HUT :FEC NOT EQUAL TO 12
20z246 022767 002212 iTESSO cHp sFP112, FEA s CHECK FLOQTING EXCEPTICN ACCRESS
?ocss4 001401 BES Ry :BRANCH IF O
52256 124000 HLT :FEA NCT EaunL T0 FPI12
002260 éa 76516 STF ACo ANS] ;STORE ACO INTO ANSI,ANSZ
SESSEq 0o27hr 000128 176512 oty aootzas aNS]  :TMECK ANSI
305572 001451 BEQ annncn IF 0K
932274 104002 HLT+2 :ANS1 NOT EQUAL To 200128
nf2a?e  [2276T 125252 1TRSCC CMP 8125252, ANSE  ;CHECK ANS2
oo 0CI42: 8EQ .+4 :BRANCH IF 0K
olo=k 1o, SIS Ta Jeia HLT+2 :ANS2 NOT EQUAL TO 126252
li&illi!li!illliii!i)lilll{lliliIll!lllilll!l!ll*!!l!iili!i’fi{fioofff0
:TEST 13: EVme:wmswmmn £m§%rms
: 177575 --> 050535, 06 ﬁs ==
: FPS = 147400,  GSRC
FEC = 12 FER = rpxxa
i#fi9ili!i!i*iiilii!l!i!lI»l{llfINIililnlGl‘lIlli!l!ilill!l!**iilwff05094}’0
502310 124402 S<OPE
32312 TCoNde BR TST13
002314 0SDSOS  0SCSas £av.3: 0S0525,050505
002320 170127 047417 vS$T132: LOFPS Q47417 Lmonmnmpwmsmws
n02324 72667 1777&d ~ LDF DAT13, ACE gg osgso; NTC nc L
002330 176627 17787% £pT:3. _OCEXP  81775%5,AC8 LORD 1778 EXPINENT oF Al:
002334 170200 STFFS  FPS : STORE rLonrxnc POINT srnr-:
ggsgas 170367 17E46C 5'S”  FEC :STORE EXCEPTION € o;
e 022700 147407 CME 8I4742C,FFS : HECK FLOATING PCINT STATUS
00234 0CIN0! gEG L+ :BRANCH IF 0K
002353 104000 HLT :FPS NOT EQUAL TO 147400
nJ2352 022767 DOO0OCIE 17442 CMP 82,  FEC « CHECK FLORTING E:CEPTION I2CF
722360 001401 BES L+ :BRANCH IF O«
f0e3be 104COD HLT :FEC NOT EQUAL TC 12
NO23EN D2E767 002330 178432 CHP sFF113, FEA : CHECK FLORTING EXCEPTION ACCREZS
0Ce372 001401 BEG .4 :BRANCH IF oK
AE2374 104000 MLT :FEA NOT EQURL YO FPII3
N22376 174267 178403 STF Al ANS!  :STORE RC2 INTC ANS..ANSZ
Ate40e (22767 077308 78372 CMp 8577305, AN81 :CHECK ANSI
£3e410 00140} BEQ R :BRANCH IF OK
202412 10400¢ HLY+2 :ANS1 NOT EQUAL T2 2r=3c%
cozeid 022787 OSCEIE  1ThIkE cMp 80SCSCE.ANSE  ;IHECK RNS2
fozwzz QC.4C. BES R BRANCH IF b



E0P ' -

“aINDEC-11=-00CPA-B *EC* OF LJENP, STEXP  MACYL. 27.732) 03-SEP-7B i4:10 PAGE 17
~oEokE Fil *ES* SECTION
2o3ede  12w322 HLT+2 :ANS2 NOT EQUAL TG 050505
QE;;I::I!!!!I&*!!G!i!6!;;*6'll’*lg;;s;ll;!l*llllll;&l;gs;’ilf!f’iif’f’&0
v ( NT)
: d00201 --» 1Hb Es xa&ggg = 100228, 153 5
; FPS = QNE412, GAC = Me-R? AC =
: MHMHMMluuﬂuluﬂunuﬂ‘HMHHHHﬂnuuuuuunuﬂu
TIZest joesSC SCCOPE
T il o B8R 15714
S02e32 180425 LEERsE OATIY: 140425, 125252
202435 170127 O4BHOS *S*14: LDFPS  8O46H0S :LCAD FLORTING PCINT STATUS
AOa4Rz 17247 177TR4 LDF DAT.4.  ACO : LORD 140425 125252 INTO ACO
52446 17ed4g7 00220! FPI1Y: ga XP cggoabx ACo ggng 09 * INTC THE Ex 2 guv F oAl
Ato4s2 1782090 TFPS ORE FLORTING POIN? U
002484 022700 OWe4!2 £ 8046412, FPS : THECK FLORTING POINT STATLE
a02460 00140: BEQ P "BRANCH IF
002462 104000 HLT :FPS NOT EounL 10 Q4E4.2
002464 174087 1TB31Z STF ACO ANSI  :STORE ACO INTO ANSI,ANS2
002470 022767 1002258 iTE3CH CMP axabaas ANS:  :CHECK Nsx
022476 0OOI0! BEQ annncn IF 0
602500 104002 HLT+2 :ANS1 NCT EounL T0 100225
gnzege 022767 125252 1TBATH “MP 8125252, ANS2  :CHECK ANS2
DCESIC CDIdgL BEG e :BRANCH IF OK
So28i2 24002 HLT+2 IANS2 NOT EQUAL T: 125282
9!iii}iiiiiiiiiiil*il!ll!lilll!!*lliillillliliiiiiiiliiliiio9’9#+90+900
:TEST 1IS: TEST LDEXP (LOAD EXPONENT), FLCATING MCCE
. : 177576 --> 040525 125252 => 000008, 053008
. : rps = OYG4O4, SAC = M2-R?,  AC = mi2
: liii!iil}liill!lll!ilﬂlii*ii*!i{iii!i’lll!l!lfliiiiiQi#ili’i#f!tf’f##i#o
202514 104400 CSPE
0C3Eie 000402 3R 15715
502520 J40528  125e%e TAT15: 040525, 125252
nG2s24 170127 OMSMIT *ST15: LDFPS 8045417 sLOAD FLOATING POINT STATUS
002530 172667 1777EM LDF 0AT1S, RCZ :LORD 040%25, 125282 INTO AC2
002534 178627 17757¢ TEIIS: LDEXP 817757k A2 :LOAD 177576 INTO THE EXPONEN™ 15 AlZ
Fec4d 170200 STFPS  FPS : STORE rLon ING POINT STRTLS
0C2542 022700 OHS404 d 8045404, FPS : CHECK rLonTxnc POINT STATLS
n02546 001401 BEQ .44 :BRANCH IF
n02550 104000 a1 :FPS NOT EQUAL TO QNS0
A0PSS2 174267 176224 STF aC2 ANSI  :STORE AC2 INTC ANS!.ANSZ
D02E56 Qe27e7 00COOC 17e21t CMP aoobaou ANS]  ;CHECK ANS!
ZZE5e4 00140l BEQ : BRANCH *
ZEoCEe 108002 HLTe2 :GNSL NO EOUQL T2 260003
2CZE70 022767 OCOCO0 17620 tMp 8COCGOC.ANSE  ;CHECK nu;a
RAZE7E DTie: BEL e BRANCH IF Ok



FO2

’ HAENEEC-LI-DCFPK-B TEST OF %DEXP. STExP  MACY1l 27.732) 03-SEP-76 [4:10 PAGE 18
OCFPRE.PIL TEST SECTION
CC2820 1240Cz HLT+2 ;ANS2 NOT EQUAL TO 0COGOC
TR R R RS R RN R R R AR RN R AR R RRRFRRRERRRRRRER IR IRET ST 595950900 4
:TEST 16: TEST _LDEXP (LORD EXPONENT), FLOATING MODE

; 177706 --> 125282, 126252 ==> 121452, 125252

: FPS = Q47410, SRC = MG-R2 AC = ACO
RN R R R R R R R R R R R R R R R R RN RN R0 50400099085054¢

oio Sor- B L, Lsls SCOPE

A=3834  HpouQs BR TST16

n02e06 125252 125252 DAT1E: 125252, 125252

002612 170127 OM7NIT TST16: LDFPS 8047417 -LOAD FLOATING POINT STATUS

032616 172467 17776M LOF DAT:6, ACO :LORD 126252, 125252 INTO “C-

A0z622 012702 177706 MOV 8177706, R :PUT EXPONEN? IN R2

002626 176402 £PI16: LDEXP RP ACO :LORD 177706 INTQ THE EXPONENT 75 A3

002630 170200 STFPS  FPY :STORE FLORTING POINT STR*_E

002632 022700 O4TH10 CMP 804740, FPS :CHECK FLCATING POINT S§™a~.S

002636 001401 BEQ L+ : BRANCH IF OK

002640 104000 HLT :FPS NOT EQUAL TO 047410

0026N2 174067 178134 STF ACO, ANS | :STORE ACO INTO ANSI,ANSZ2

002646 022767 121482 iTBl26 >MP 8121452 ANS! :CHECK ANS.

902654 001401 BEQ .44 :BRANCH IF OK

002656 104002 HLT+2 :ANS1 NOT EQUAL TC i21452
022767 125252 ITEilE CMP 8125252 ,ANS2  ;CHECK ANS2

OcoebE 001401 BEQ .44 :BRANCH IF OK

JC2870 104032 HLT+2 :ANS2 NOT EQUAL TC 128282

(ERERRERERER SRR ERERERERREFER R AR RBERRREER A REERERRBRRADE2IR 2422422920

: TEST 17: TEST LOEXP (LORD EXPONENT), FLORTING MCODE

: 00G135 --> 0S2505,052525 ==> 067325.052525
: FPS = 047400, SRC = MO-R3. RC = AC2
: EFRFRRREEEREEAERERE R R R R RIS ERERFPERREERRF SRR A LR R RREPLEH42222 2222280002002
Q02672 104400 SCOPE
FEIE?Y  0OCu02 BR 15T17
S02e76 052525 (0S2525 DAT17: 0S2525.052525
002702 170127 (QN7417 YET17: LOFPS 8047417 L OAD FLOATING PCINT STATUS
°0e706 1728E7 1777EM LOF DATI?, RAC2 :LOAD 0S252¢,052525 INTS RC2
002712 012703 0CCL3S MOV 8000135.R3 :PUT EXPONENY INR3
002716 176603 Fe1:7: LDEXP R3 Ace :LOAD 0C135 INTO THE EXPONEN™ JF AlZ
0192720 170200 CTFFS  FP§ :STORE TLOATING POINT STAT.S
ate798 022700 047402 CMP 8097400, FPS :CHECK FLORTING POINT STATCS
202726 001401 BEG e :BRANCH IF OK
602730 104000 HLT :FPS NOT EQUAL TO Q47400
N22732 174267 17E04M S7F RC2,___ ANS:  :STORE RC2 INTO ANSL,AMS2
T0E73€ (02z7&7 (CE732S 17603% TMP s0EP 325, and1 : CHECK ANS1
£C2794 Z0I+0! BEG +4 :BRANCH IF o¥

clg7+8  1D<4CTe M T2 JANSL NCT EGURC 7o CETasS



GO2

MR INDEC-11-DOFPR-8 *EST OF .DEX®, STEXP  MACYI! 27(732) 03-SEP-76 14:10 PAGE 19
~SERKE P TES SECTION
0m2°50 022~E~ O53635  1BCRE CMP 8052535,ANS2  ;CHECK nnsa
022756  0C14C! BEG 44 : BRANCH %
S85780  1280C2 HLT+2 :ANS2 NG EounL T0 052525
'lhlnl'}}ilf&iil*l»llnllll*llll«lilil'i!l!i!!l!!lil*i!!i!i!iiliiiili!!!ifﬁ'fﬂ'
: TEST 20: TEST STEXP (STORE EXPONENT), FLOATING MOCE
: 000000, 60000C --> 177500
; FPS = 047410, FCC = 10 AC = RZC, 0ST = Me-R7
iii}llii*l*!l!!lii**lﬂll}il*llii{»Qll'l»i*{{40*!*!!*!!4!!’!!!194!!0#!fififf
SIETRD  104MSC SCOPE
383764 A0oube BR 15720
0276% 000000 02000C DAT2C: ©J0000, 000000
002772 1701287 Q47417 TST20: LOFPS 8047417 - LOAD FLOATING POINT STATUS
gggggs 17 177~§4 LDF DATEC, ACO Lono cgnnog 000003 INTO ACG
1 ? 175774 ce120: STEXP  ACO ANS 1 : STORE KPONENT OF ACI IN &nc:
003006 013767 177776 176772 MOV asP§.  ANS2  :GET CPU STRTUS
003014 042767 177780 17S7e: BIC 8177760.6N52  :SAVE CONDITICN CODES
003022 170200 STFPS  FPS :STORE FLORTING PCINT STAT.S
003024 022700 08712 CMP 8047410, FPS :AHECK FLOATING POINT STALS
003030 001401 BEQ _+Y :BRANCH IF OK
003032 1040060 HLT :FPS NOT EQUAL TO 087412
N03024 (22767 17TEDC  LTSTHD SMP 8177800, ANS] :CHECK ANS!
002042 00140! 8EGQ .44 :BRANCH IF OK
0C3044 104001 HLT+1 :ANS! NOT EQUAL T2 .T7e22
0C23046 382787 0o0010  LTET3C CMP 8.0, ANS2  :CHECK ANS2
3F3T54  OOIw0! BEu .+4 :BRANCH IF 0K
20205 1040tE HLT+2 :WPONG CONDITION CODES!
*lil#!iiii!llii'lilil)i!lllli!li!'Il!l}'l{iiiiiiiiiiiiifiiliii&iffifif«}#ff
:TEST 21: TEST STEXP (STORE EXPONENT:, FLOATING M2
: 140134, 034343 -=» ooocoo
: FPS = 847404, FCC = AC = AC2 0S” = Me-&T
;iliiiili!iiiiiiili}iii!*iiiiiii!ifi!*!iiiii*iii‘iliii*iiiiiifiii*#if’f’
o306 10402 SCOPE
503Cec 00C+0e R 15721
003064  1MOI 034343 DAT21: 140134,034343
63070 170127 OM7417 TSTEl: LDFPS 8047417 :LORAD FLORTING POINT STATUS
003074 172667 177784 LDF DRT21, AC2 :LORD 140134,034343 INTJ RC2
N02100 175267 175676 FPI21: STEXP AC2 ANS1 :STORE THE EXPONENT OF RC2 In ancs:
N03104 013767 177775 17Sk72 MOV 90PS, ANSZ  iGET CPU STRTUS
An3ii2 042767 177760 17EEed BIC 8177760,ANS2  :SAVE CONDITICN CODES
AC2120 170200 STFPS  FPS !STORE FLOATING PSINT STAT.S
A02122 (22700 Q47404 Twp 8047404, FPS :CHECK FLOATING POINT S-a-.%
233126 OCIM01 8EG .4 :BRANCH IF OK
€0213C 104000 HLT :FPS NOT EGUAL T2 47424
202122 Q2E7e? J0OCIC  17Se<2 CMP soccar: AN . THECK ANE1

chzueg 20.HCl 8t <ERRNCH IF O
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053156
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003166
003172
033176
003202
003210
003216
003220
a03224
003226

003230
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ppppp
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134001
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001401
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0014GC1
104001

Q22767
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104C3z
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000402

042525

170127
172467
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176200
022706
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104032

-t

8302C4

125252

Q47417
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17SE00
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gcoccl

0Segs2s
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175502
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&
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17ESEe

175544
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-QEXF, STEXP
10

HO2

MRCYLl 27.732) 03-SEP-786 i4:10 PARGE 20

HLT+] ;ANS1 NOT EQUAL TO 000CQO
cMP ., RNS2 s CHECK ANS2

BEQ .+4 ;BRANCH IF 0K

HLT+2 ; WRONG CONDITION CODES!

(EREEEEREERRERER LR R R RERERRRERR AR RRRERRRELREFRIRRERESSFHERESSR2444

S TEST 22: TEST STEXP (STORE EXPONENT), FLOATING MODE
: 040200, [25252 --) 000001
: FPS = 047400, FcC =0 RC = ACY, DST = ™e-R7
: *iiilﬂll!*ll!!lii*llhii**}i!il‘!*!l!I'iiiitii}iiilli§§§f§§§§§§§!nl96’4999
SCOPE
BR 15122 -
DAT22: 040200, 125252
TST22: LDFPS 8047417 :LOAD FLOATING POINT STATUS
LDF DAT22, ACO :LGAD 040200, 125252 INTO ACG
FPI22: STEXP  ACO ANS]  :STORE THE EXPONENT OF ACO IN ANS.
MOV 8PS, ANS2  :GET CPU STATUS
BIC 8177760 ,ANSZ  :SAVE CONDITION CODES
STFPS  FPS :STORE FLOATING POINT STA™LS
*MP 8047400, FPS :CHECK FLOATING PCINT STAT.S
BEQ e *BRANCH IF OK
HLT :FPS NOT EQUAL TO 247400
CMP 80CO051,ANS]  :CHECK ANSI
BEG L 44 :BRANCH IF OK
RLT+1 :ANS1 NOT EQUAL TC 26220:
CMP 80 ANS2  ;CHECK ANS2
BEQ . +4 :BRANCH IF 9K
HLT+2 : WRONG CONDITION CODES!
;{iiiﬁiii!lfliliiiiliii*ii***iiii*li**i***!iii!liii**iiiif!*iiiiiiiio9**
: TEST 23: TEST STEXF (STORE EXPONENT), FLOATING MODE

: 942525, 052525 --> 000012

RARC = ACC

DST = Mg-RT

AR R P R RS RN AR R P IR R R R R PR AR R R R R IR R IR IR R RSS2

FPS = 047400, Fo
‘\PE
BR 15723
CAT23: 042525,052525
TST23: LOFPS 8047417
LDF DAT23, ACC
FPI23: STEXP ACO AN3]
MY J#PS,  ANSZ
BIc #177760,ANS2
STFPS  FPS
CMP 8047400, FFS
BEJ .4
ML T

:LOAD FLOATING POINT STAT.S

:LOAC 042525,052525 INTS RCC .
:CTORE THE EXPONENT OF R2D IN ANS!
:GET CPU STATUS

:SAVE CONDITION CODES

:STORE FLORTING POINT STATUS
:CHECK FLORTING PIINT S7av.E
:BRANCH IF OK

:EPS NCT EQUAL T2 SWTsCC

——— -
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C=ei=C
PLI
QCl32k
a03334
633336

u033“’

ppppp

0033S6

033362
003366
0C3372
003376
003404
a03412
003414
833420
003422

CO3424
o343z
003434
00343¢
Co344H
232448

Q02450
CJ3sEe

003454
003460

FPk-5

022ve”
001421
104001

022767
00:401

134C83

104500
000402

125252

17037
172667
175267
013767
042767
170200
022700
081401
134000

022767
001401
104001

022757
0014C1
<4022

104400
000402

05e525

170127
172467
175367
013767
042767
17020C
82279“

TEST OF .DE\° STEXP

TES™ SECTION
175446

2CaCl2

8000CC

125252

047417
177764
175404
17777¢
177760

047410

177725

goaoic

£52525

047417
1777€4
175306
177776
1777€0

0474300

175436

1784G8
178372

175350

o

N

ey
~J(D

L
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CMP 8000012,ANS] :CHECK ANS|

BEG L+ BRQNCH IF 0K

HLT+1 :ANS1 NOT EQUAL TO 0000iz

CMP 80, ANS2 CHECK RNSE

BEQ .44 +BRANCH IF 0

HLT+2 HRONG CONDITION CODES!
i!*!!i*ili*******iiilili****!l!il**lii*l*llli*lll*'illllf!lflfflf!’fif’
<TEST 24: TEST S'EXP LSTORE EXPONENT ), FLORTING MODE
: iggese, sesese —-) 177728 i i
H FCV = = F‘Le, .;SA - M&"?
;§§§*i§i}l*l*ilii**!ii*!ii*’**if*ifii*fif****iifliiifif’{f’iiii}#f!!fiif

SCOPE

BR TSTed

DRT24: 125252, 125252

TST24: LOFPS 8047417 :LSAD FLOATING POINT STA™.S
LDF ~ LCAT24, AC2 ;. JAD 125252,125252 INTC Al2
FPI24: STEXP AC2, ' ANS]  :STORE THE EXPONENT OF ACZ IN RMZ!
MOy 93PS, _ ANS2  iGET CPY STATUS
BIC ~ 8177P63,ANS2  ;SAVE CONDITION CODES

STFPS FPS :STORE FLOATING POINT STRTJUS

MP £047410.5°5 :CHECK FLOATING POINT STRT_S

BEG .+4 :BRANCH IF OK

HLT :FPS NOT EQUAL T2 D47+12

CMP $177725, ANSL :CHEZK ANS|

BEQ L+4 :BRANCH IF OK

HLT+1 GNSI NOT EGuUaL TC 17T7ES

CMF 10, ANG2 s CHECK ANS2

BEG _+4 :BRANCH IF OK

HLT+2 :WRONG CONDITION CCHES!
iiii*ii!iiii!li!*!i{ll*iiii*!iil*il!liiiiliiiii!l!§§§iiii{iiti0§{§+§§ii

- TEST 25: TEST STEXP (STORE EXPONENT), FLOATING MIDE

: 052525, 052525 --> 0000S2
: FPS = 047480, FCt = 00, AC = ACC, 56T = Mg-RT
;liilill!il!!!iii**!*iiiiii!il{ii*liiiiiiilii!iiiiiil!!i*iiiiiliilii’i{f

SCOPE

BR 15725

DATES: 052525,052525

T672S: LOFPS 8047417
LOF DATZS, ACO
FP125: STEXP  ACO ANS
MY acPé ANE2

LOQD FLORTING PJINT STRTUS

:LOAD 052525,052525 INTO RiC
STOPE THE_EXFONENT OF RCO IN AMNSI
:GET_CPU STATLS

BIC 77?60, ANS2 :SAVE CONDITION CODES

STFog FPS :STORE FLOATING POINT STaTLS
CMp 8047400, FPS :CHECK FLCATING PJINT STR™.S
BEG ,+4 :BRANCH IF 0K
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003520

C035ee
3C3530

003532

Gk SH

SJ3544

0J354E
003550

003s5e

003556
03562
003566
003572
003600
003606
003610
033614
003616

003620
00362k
003830

003632
203643
003e42

QC2es4
0C3e4b

0C3650

003654
233680
03664
Q03E70
=03E76
c027304

104000

022767
0C1401
104001

BaTCRT

134002

104400
0G043e

177777

170127
172767
175367
013767
042767
170200
022700
801401

104000

022767
001401
104001

022767
001431
104002

104400
00C402

000200

170127
172567
176167
C13767
Q42767
1702CC
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TEST SECTION

0oc0os2

C0oaaR

177727

047417
177764
175210
177776
177760

047420

000177

000800

C00C00

Q47417
177764
176112
177776
177780

175252

175242

175204
175176

175154

[N

~J

~N~
o
s p—a
(omlom
oo

n

[

HLT :FPS NOT EQUAL TO 047400
CMP 8000052, ANS 1 : CHECK ANS1
BEG .44 :BRANCH IF OK
HLT+1 -ANS1 NOT EQUAL TO 0000S2
MP #00.  ANS2 ‘EHECK ANS2
EG L+ BRANCH IF OK
HLT+2 WRONG CONDITION CODES!
H EEEEREREREEREE LSRR LR SR EEERREREREEEREERREERELRE RS R BERER RS LT EE RSS2 45E
:TEST 26: TEST STEXP (STORE EXPONENT), FLOATING MODE
: 177777177777 -=> 000177
; FPS = O47400, FCC = 00 AC = AC3 DST = M&-R7
: !*illli**iil*iii*l*i**i*lllll!li*«!***i!*****i!ii!i**!i**l****i**i***!fi
SCOPE
BR TST26

DATEe: 177777177777

TST26: LDFPS 8047417 :LOAD FLOATING_POINT STATUS

LOF  DAT2b, AC3  ;LOAD 177777,177777 INTC AC3
FPI26: STEXP AC3, ' ANSL  iSTORE THE EXPONENT OF AC3 IN ANS.

MOV @#°S, ANS2  ;GET CPY STATUS

BIC  #177780,ANS2  ;SAVE CONDITION CODES _

STEPS  FPS ;STORE FLORTING POINT STATJS

CMP ~  #7047400,FPS  ;CHECK FLORTING POINT STATJS

BEG .44 :BRANCH_IF OK

HLT ;FPS NOT EQUAL TO 047420

cHMP 39801??,QNSI :CHECK ANSI

BEQ +BRANCH IF 0K
HLT+] +ANS1 NOT EQUAL TO Q00177
CMP £0C, ANSZ2 :CHECK ANSZ2
BEG .+ s BRANCH IF OK
HLT+2 sWRONG CONDITION CODES!
s EEEFEEEER R R R E R R R R R AR R R 222
< TEST 27: TEST STEXP (STORE EXPONENT), FLORTING MODE
; 000200, 000000 --> 177801
; FPS = 047410, Fc = 10 AC = ACL DST = Mb-R?
A EEE AR EE AR R RSN R SRR RN AR IR E SRR E R R RN R R R R PRI R AR 222
SCOPE
BR 187127

CAT27: 000200,000000

TST27: LDFPS  #0M74.7 :LOAD FLOATING POINT STATLS
LOF DAT27, AC! :LOAD 000200,000000 INTO RCI
FPI27: STEXP ACI ANS | :STORE THE EXPONENT OF RC! IN ANS!
MOV aopé+ ANG2 :GET CPU STATUS
BIC #177760,ANS2  :SAVE CONDITION CODES
STFPS  FPS :STORE FLOATING PGINT 3TATUS

— o —— -
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NIFRKE. PRI TEST SECTION
003706 022700 C47HL0 CMP 8047410, FPS : CHECK FLORTING POINT STATLS
003712 001401 BEQ L+ 'BRANCH IF OK
003714 104000 HLT :FPS NOT EQUAL TO Q47410
003716 022767 177601 175056 CMP $177601,ANS] : CHECK ANS1
603724 001401 BEQ et :BRANCH IF OK
003726 104001 HLT+] 'ANS1 NOT EQUAL TO 1776Cl
003730 022767 000510 175046 CMP $i0, ANS2  ;CHECK ANS2
003736 001401 BEQ _ 44 ‘BRANCH IF OK
003740 104062 HLT+2 :WRONG CONDITION CODES!
. 22222232228 I222 22222232 2222222222322 228 2223323322222 322222222222
:TEST 30: TEST STEXP (STORE EXPONENT), FLOATING MODE
; 125252, 125252 -=> 177725
: FPS = 047410, FcC = 10, AC = AC3, 0ST = MO-RI
IFEREEREERR LR R AR R LR PRI REF AR L ERREA IR ISR RA 2R AR LRSS LR RN FRFAFE44
003742 104400 SCOPE
003744 000402 BR 7S730
003746 125252 125252 DAT30: 125252, 125252
003752 170127 0OM7417 TST30: LDFPS  #047417 :LORD FLOATING POINT STATUS
003756 172767 177784 LDF DAT30, AC3 :LOAD 125252, 125252 INTC AC3
003762 175201 STEXP AC3 RI :STORE THE EXPONENT OF AC3 IN R!
003764 013767 177776 175012 MOV 3#PS, ANS2  IGET CPU STATUS
003772 042767 177760 175004 BIC 8177780,ANS2  :SAVE CONDITION CODES
004000 D0I0167 174776 MOV R1 ANS1 :STORE EXPONENT FOR TYPING
004004 170260 STFPS  FP ;groaz FL nrinc POINT SIATUS
004006 022700 047410 CMP 8097410, FPS : CHECK FLOATING POINT 2ATS
004012 001401 BEQ L +4 :BRANCH IF OK
004014 104000 HLT :FPS NOT EQUAL TO 047410
004016 022787 177725 1747%h CMP $177725,ANS] :CHECK ANSI
004024 001401 BEG .+Y4 :BRANCH IF OK
004026 104001 HLT+1 :ANS1 NOT EQUAL TO 177725
NQ4030 022767 0000I0 174746 CMP $10, ANS2  :CHECK ANS2
004036 361401 BEQ .+4 :BRANCH IF OK
00404C 104002 HLT+2 :WRONG CONDITION CODES!
H ERERRBEAFEREELEEEREEELEEEREREEEEXEEEEERERREELLEREEERLRERERXEREEREEEEERLS
t TEST 31: TEST STEXP (STORE EXPONENT), FLOATING MODE
: 052525, 052525 --> 000052
: FPS = 047400, FCC = 00 aC = AC2 DST = MO-RY4
: ii!l*!*ii!!i!!ii!!*iiil!iiii*!!i'll*i**!*iii!i«lli*iil{iiii{iiliiiiit*ii*
004J42 104400 SCOPE
004044 000402 BR 75731
O04046 052525 052525 DAT31: 0S2525,052525
004052 170127 047417 TST31: LOFPS 8047417 :LOAD FLOATING POINT STATLS
COMOCE 172887 177784 LCF DAT31, AC2 :LOAD 052525,052525 INTC AC2

c0+0B2 178204 STEXP  Ale2. Ry :STORE THE EXPONENT OF ARCe IN R4

- seme o= [

- e = -
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8 4064
4072
004100

004114

004116
co4124
004126

004130
024135
034140

J0414¢
004144

004146

004152
004158
004162
004166
004170
004172
004174
004176
004200
004202
004210
004216
004220
004224
004226

204230
004236
QC4254
004e4e

0C4250
024256
004260

g
010467

104000

022767
001401
104C0!

022767
001401
104C02

104400
000402

143125

170127
172467
005067
175027
000000
000403
000000
000000
0000CS
013767
0u2767
170200
022700
001401
104000

016767
022767
001401
104301

022767
00140}
104002

0000s2

Goooce

052525
047417

177764
00000e

177776
177760

047400

177734
JOCC.H

0oocCco

174712
174704
174656

174646

174574
174566

174544
174536

17452¢

F LDEXP, STEXP
CTION

LO2
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MOV 8PS ANS ;GET CPU STRTUS

BIC 2177760, ANS *SAVE CONDITION CODES

MOV RY ANS] :STORE EXPONENT FOR TYPING

S "PS FPS ;STORE FLOATING POINT STATUS

CMP $047400, FPS ' CHECK FLOATING POINT 3TATUS

BEQ .+Y4 'BRANCH IF OK

HLT :FPS NOT EQUAL TO 04740C

CMP 8000052, ANS1 : CHECK ANS]

BEQ P :BRANCH IF OK

HLT+1 *ANS1 NOT EQUAL TO 00OCS2

CMP %00, ANS2  ;CHECK ANS2

BEQ .44 ' BRANCH IF OK

HLT+2 - WRONG CONDITION CCDES!
;*i**i*i*!{*!!l{i**ii!i*i!*****l***!****!**i**i***%ii*i**i!***ii**i*ifii
' TEST 32: TEST STEXP (STORE EXPONENT), FLOATING MODE

143125, 052525 --> 000014
: FPS = 047400, FCC = 0O AC = ACO DST = M2-R7
;****i*i******l**}**ill**!*i**i*i*i{*ii!****ii*i‘*ifi*i*i*i**!i**ti*****

SCOPE

BR TST32

DAT32:
TST32:

FPI3e:
ANR32:

143125, 052525

LDFPS 8047417 ;LORD FLOARTING POINT STRTUS

EEE gg;gg, ACO ;LORD 143125,052525 INTO RCO
STEXP  ACC, (PC)+  :STORE THE EXPONENT QOF RCO IN <2
gR +10 : THE EXPONENT GOES HERE

HALT
AALT
HALT
MOV J#PS ANS2 ;GET CPU STRTUS

BIC 8177760,ANS2  ;SAVE CONDITION CODES )
STFPS  FPS :STORE FLOATING POINT STATUS
Mp 047400, FPS s CHECK FLOATING POINT STATJS
BEQ .44 :BRANCH_IF OK

HLT ;FPS NOT EGUAL TC 047400

MOV ANR32, ANS 1
CMP 8000014, ANS! : CHECK ANS!

BEG L+ :BRANCH IF OK

HLT+] *ANS1 NOT EQUAL TO 000CIW

CMP 800,  ANSZ  ;CHECK ANS2
BEQ .+ :BRANCH IF OK
HLT+2 *WRONG CONDITION CODES!

(EEEREEARRE RN R R AR AR LR R R RE AR RR R R RAEREEARERAFRRRRRERE R RRER AR R R RS

:TEST 33

: TEST STEXP (STORE EXPONENT), FLOATING MODE
032615, 125252 --> 177753
FPS = 047910, FcC = 1, AC = ACL. DST = M2-RT
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004262
0oC- agM

004256

004272
64276
00432
004206
004310
004212
GO4314
004316
004320
G04322
004330
004336
DJ4340
04344
004348

004350
004356
CO43b4
C04366

oo4370
004376
a04400

DC44Ce
004404

D406
054414

004416
004422
0o4u26
00843
004434
004440
ooN44e

O0444Y
004450
D044SE
004463

104400
000402

032615

170127
175567
005067
175127

104000

016767
622767
O0140!
104001

022767
001401
104002

104400
000404

C40252
125282

170127
172467
176427
170200
022700
001401
104000

174067
C22767
001401
1CHNCH

- MO?
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TEST SECTION

(EERERFRRERR AR R RLEREERRE AR RRERRR LA RERRE R REERFEREERLRARRRLRIRRRERESS

SCOPE
BR 15733
125252 DAT33: 032815, 125252
047417 TS733: LDFPS 8047417 :LOAD FLOATING POINT STATUS
177764 LDF DAT33, RCI :LORD 032615, 125252 INTO ACL
Joooge CLR ANR32
FPI33: STEXP ACI, (PC)+  :STORE THE EXPONENT OF ACI IN .
ANR33: 0 : THE EXPONENT GOES HERE
BR .+10
HALT
HALT
HALT
177776  17945H MOV 2#PS, ANS2  ;GET CPU STATUS
177760 17444z BIC $177760,ANSE  ;SAVE CONDITION CODES
STEPS  FFS :STORE FLOATING POINT STATJS
047410 CMP 004/410 FPS :CHECK FLOQTING FOINT STATUS
BEQ BRANCH Ir OK
HUT :FPS NOT EQUAL TO 047410
177734 179424 MOV ANR33, ANS1
177753 174416 CMP :1777¢3 ANS1 : CHECK ANS1
BEQ *BRANCH IF OK
HLT+1 :ANS1 NOT EQUAL TO 177753
0OCOI0 174406 CMP 810,  ANS2  ;CHECK ANS2
BEQ .44 : BRANCH IF OK
HLT+2 : WRONG CONDITION COCES!
******!!i*i*i!l!i*iil!*ii*i!l**ii!lii*!li!i!lii!*!il*!***l!*i!fiiiiill*
' TEST 3M: TEST LDEXP (LOAD EXPONENT), DOUBLE MODE
: 990000 --> 040252, 125252, 125252 125252 ==> 040052, 125252, 125252, 125252
: FPS = 047660, SRC = Me- 'aC = ACO
*!ii*l!!{i!!i!!!!*i‘!’l*i!i!!iiii!iiii!!i!!iii**i***i***i******!!f*tf**
SCOPE
BR TST3Y
125252 125252 DAT3N: 040252, 125252, 125252, 125252
O47617 TST34: LOFPS 8047617 :L0AD FLOATING POINT STATUS
177760 LDD DAT34, AZD :LOAD 040252, 125252, 125252, 125252 INTD R
00G000 FPI34: LDEXP scaoobo ACO :LOAD 000000’ INTO THE EXPGRENT OF ACC
STFPS :STORE FLOATING POINT STATLS
047600 CMP 1047500 FPS : CHECK FLORTING POINT STATUS
BEQ : BRANCH IF 0K
R :FPS NOT EQUAL TO 47600
174332 STD ACO ANSI  ;STORE ACO INTC ANSi THRU ANSH
04002 174324 CMP 2048052, ANSE I CHECK NSl
BEQ .44 tBRANCH IF 0
HLT+4 :ANS1 NOT EOUR' TO 040052

s am e w E——————



MAINDEC-11-CCFPK-B

DCFPKB.PiIL

B04u2
004472

Q04474
0Q4s0e
004504

024506
CC4514
004516

0J4520
0045¢cz

004524
004522

004534
Q04540
CO<SHY
004550
0g4ss2
Q04558
004560

Ca4See
0J45E6
OC457Y4
004576

004600
004606
004610

004kl
004620
004622

004e24
Q0432
oC4E34

891481

104004

022767
201401
104004

022767
001401
104004

104400
000404

137777
177777

170127
172767
176727
170200
022730
001401
104000

174367

22767
001401
105004

022767
001401
104004

022767
001401
104004

022767
0014G1
104004

TEST OF LDEXP, STEXP

TEST SECTION

125252

125e52

125252

177777

047517
177760
000005

047610

Lol ol
£-~J
'—- £
(P9 oV

~Je-
~)

177777

1772777

177777

174314
174304

174274

177777

174206
174176
1741865

174156

SNP
EQ
HLT+4

chP
BEG
HLT+4

cHP
BEQ
HLT+4

MRCY1l 27(732)

NO2

03-SEP-76 14:10 PAGE >

%125252, ANS2
.+q
8125252, ANS2
.44

%#12525¢2 . ANSH
44

§ SCk AN 2
RANCH [
QNSE NOT EQURL TO 125252

; CHECK QNSJ
: BRANCH *
:ANS3 NO EOUQL 70 125252

; CHECK ANSY
:BRANCH IF (K
:ANSY NOT ECURL TO 125252

CFERRFHUIRFFEEFRERRTIEIREFRFHRRERIRE RN EI IR RAR AR E LRSI RERRRRE RS S FEHH2 S
TEST_LOEXP nLnQD EXPONENT), DOUBLE MODE

: TEST 35:

: 000005 --> 137777, 1
: 047610 shc = ra *R7 'as = fn3
****l**i!**!*!*!***i********!fi*i*i*i**********l***!*i*(***)**!**!**if!

FPS =

SCOPE
BR

TST35

i77777,177777 ==) 141377,177777,177777,177777

CART3S: 137777,177777,177777 177777

T5735: %BEPS

FPI35: LDEXP
STFPS
cMp
8EQ
HLT

STD
CHF
BEG
HLT+4

CMP
BEGQ
HLT+S

cMP
BEQ
HLT+4

CHP

st
HLT+Y

RO47617
DAT3S, AC2
nooooﬁs Ac3

8047610 FFS

AC3 ANS]
u1413«7 ANS]

$177777, ANS2
.44

8177777, ANS3
44

877777 ANSH
.+

:LOAD FLOATING FOINT §ATUS

:LOAD 137777,177777,177777, 177777 INTO AC3
'LOAC 000005’ INTO THE EXPONENT OF AC3
:STORE FLOATING POINT STATUS

gEECk rEonr;nc POINT STATHUS

:FPS NOT EQUAL TO S47610

;STORE AC3 INTO ANS1 THRU ANSH
CHECK ANS !

: BRANCH IF 0K

:ANS1 NOT EQUAL TO 141377

; CHECK RNSE
sBRANCH IF OK
:ANS2 NOT EQUAL TO 177777

; CHECK RNS3
:BRANCH IF 0K
:ANS3 NOT EQUAL TO 177777

; CHECK ANSH
:BRANCH IF OK
:ANSY NOT EQUARL TO 17777

CERFERRRREARFRRRERRARIRRERRFERERERERAERERRRR A E R R R AR AR R SRR RE SR DRSS
TEST LDEXP (LORD EXPONENT), DOUBLE MOOE

’ECT 36

FPS = 047600

77601 --> 06161Ehé43434 ggasas 107070 ==) 000216, 143434, 052525, 107070

RC = HCE

!iiiililiiii!*}li*iii*lfiiii**i*i**i*ii*iiiiiiiil*i*t*ii**iili*i*iiiiii

—m— g
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SZegk2 itBber i™Tell £EI3k:  LJEXP .;, 601.”C2 u’*gg* iﬁguv & iz

SsuBBE A SYFPS  FPS rL 'n

el Spalilar- 3 04 E22 ot 804~622,€7S ..uzcu FLOﬂT nc pf ~'

Ses Xivl. BE Lo

S04ETs  12600C " :FDg NO’ EQJﬂg vs SWTEIC

wla) pys 8 1*ggs' 179278 e 22, "NS.  :STORE aca INTS aNS. TR NS

et 32Tt OpTiis LTeITC “we 82Zhzis.angl IMECK ANS

Soyrie DCISCY 3E. px annncn 'r * i

ONTIN  1ONOON - en R ¥ ES.RL Tnoooizie

2MTIG gga:sr 1d3ue  [T=IEC . Bi932ed NG (ir€lh ANS2

Sou724 XCiwG: 3€5 a4 :SRANCH IF ok

's -, S 1a's ¥ " T PANGZ NCT ESomu o ie3ele

AONTI0 0227R7 DE2S2E  ITHIEC 2mp 8052528, aNG3 Hs.x ausa

w736 00121 3. L o4 o

AONTUC [ NIDM dT e ? ESuR. 7o -S2s2¢

Dou742 D22TRT IITITD ITWIel op B.CTITS, NS (LHECK a~s~

384788 Afi«C: 8€35 .4 :BRANCH 1F X

AC4~52 1240 "RLT SANSY NOT EGUAL T2 107272
99l!Ql'N'i!!’Oi0iQQQl'lllili!!!ill'{liiill!!liii!.!!l!iiOGQOQQQQQOOQOQOQ [ 23
:"EST 37: TEST LJEXP (_ORD EXPOMENT)  DGUBLE MOCE
: 806177 -- 1bl6lb, 161616, 161616, 1slsxs zz> 177605, b1518, 181518, 1815.E
: FPS = oureil,  GAC = M2-R7 AC1
: i!llil!lli!!li!i’!l‘9!06!!’0!!9009‘!!!’li!fl.i#lQOQQQDQOQQO’QQQQQOQQQQQ

AZ4TE4 1 3==00 ScoPE

=e78e  B8cuns 8rR 15737

04760 16lble 181816 1B1BlE DAT37: 161B16,161616.161616, 161016

204786 1B.B16

no4770 170127 OM7EL7 *6TIT: LDFPS  8ONTBL7 :LOAD FLORATING POINT STATLS

04774 172667 177783 Mo DAT37. ACl :LORD iblblb. 161616, 181616, 1BiB1S INTI AL

A0ea0C 176527 000! FPI37: bosxp scanx?v AC1 :LOAD 000177 INTO T4E EXPCNENT OF AlL

J0E004 170200 ) STFPS FF *STORE FLORTING PCINT STAT.S

cAE006 022700 047&.c °MP 8047610, FPS :CHECK FLORTING PCINT S§TA".S

SCE012 001401 BEG 4 TBRANCH 1€ OK

205014 104000 HLY !FPS NOT EQUAL TO QNTE.D

N0EC1e 174167 172760 570 ACL, . ANSI  :STORE ACL INTO ANSL “rR. ~hSe

*8E02z De2?e7 177eiE 1737t Imp 817618, ANS! THECK ANSI

CEC30 ogiuC: BES ,¢q BPHNCH 1F 2k -

oBlzg  iomlls L NS NCT Eoome Yo 1TTElE



mINOEC-11-DIFPR-B

JIFPKB.PLL

Q05034
905042
COSouY
05046
<OSOSH
J050S¢

ool pra

022°e"

0014C1
10M0CH

022767
001401
104004

822767
Sel%Cl

134204

194490
D0040M

ONC000
000C2C

170127
172467
176427
170200
822700
001401
10400C

174067
022787
0C1401
104004

022767
0CI14C1
104004

C22767
g0.4o1
104004

022767
Dﬁl4Ql
D40CH

- -
Od*qdv

'EST JOF LOEXP,
TEST SECTICN
151Ele 173742

¢
8186 173732
1Blble !737a2
030022 300%eC
Qu7e1?7
177760
177777
347600
17364¢
Q37630 173823+
00CC2C 17362+
g23C22 i7aeld
000CeC 173624

CO3

STEXP MACYILl 27.732: (03-SEP~76 i4:10 PAGE 28

cMP #1RIE15 ANSE  ;CHECK ANS2

8Ly .44 :BRANCH IF OK

ML T+Y4 :ANS2 NOT EGUAL TO 1816.6

CMP 8i616:6,ANS3  ;CHECK ANS3

BEG .44 :BRANCH IF 0K

HLT+Y *ANS3 NOT EQUAL T0 18!65%

CMP 816:616, ANSY : CHECK ANSY

BEQ 44 :BRANCH IF 0K

ML T+Y4 ‘ANS4 NOT EQUAL TC IEiBIE
CRERERERRERRER R PR R R R RER PRI RN ER VAR R RRRARERRERILRRRRRE42 04708844000
s *EST 40: TEST LDEXP (LORD EXPONENT), DOUBLE MCDE L
: 177777 -~> 048000 ocooe..ggnoao ooboae =2 37630,00002C, 292223, 2002:C
: FPS = 047e0C, SAC = M2-R
;*#ll!!i!il!i!!i*l{lilllliiiil!iiil!!!!l!lii!iliflifii!§00§f§99+99§99090

SCOPE
eR 79740

DATSQ: 04000C, 300020Q,22C02C,20CC2C

TS T o R UG M

FPI4C: LDEXP oxf'*#r RZC :LOAD 177777 INTO TAE EXPONENT oF &l2

STFPS  FPS STORE FLORTING POINT STATLS

Cup nu7suu £PS :CHECK FLORTING POINT STATUS

BEQ :BRANCH IF O«

HUT :FPS NOT EGUAL TC 047800

570 ACo ANS! :STORE ACO INTO ANS! THRL ANS«

Cmf aca?eoa ANGL  :CMECK ANSI

BES : BRANCH %r 0K

HLT+4 ‘ANS1 NOT EQUAL TO 237859

CMP 8300020,ANS2  ;CHECK ANS2

3E2 P :BRANCH IF OK

HL T+ :ANS2 NOT EQUAL TC 352%2C

CMP 8030220, ANS3 ,uuggg ANS3

ot e R BRANCH IF Ok

AL T 44 nnsa NOT EQUAL TC Cognas

CMP 8000320,ANSH  ;CHECK ANSH

BEQ .+ : BRANCH ¥r 9K

HLT+4 :ANSY NOT EQUAL TO 082022C
!lfiifflQiiiiii!iliiii!ili#ll!liii!liiii#li!iililiiiiiili’ii!i’iQQQ’QQQ
:TEST M41: TEST LDEXP (LOAD EXPONENT), DOUBLE MCCE .
: 177706 -=-, 125252 xasesa xnsesa 125252 => 121452,1252%2, 1352383, 128252
: FPS 047610, SkL Ac3

’fffif*‘fiiffffiffiifiiffffiifffii‘iiﬁiQQQQQO!QQ*QQii’i#’#ii’!iiii{”i’

CCiFE



“SINJEL-11-D0FPa-B

Q0S302
308310
gns3le

08214
20c3e2
Jo5224

oss3ck
0CS330

nos33¢c
Qos3sC

cgS3+e
COS34b

QOCHC4

12525¢
18525¢

1?2l
27
lf ~00
022700
001401
10400C

174367
022767
0014C!
104004

022767
001451
104004
022767
00.421
104004
022767

Co140!
154004

104420
CO0404
9S252¢
058eSes
170127

001401
104000

174267

2K

TEST JF_DEXP, STEXP  MACYIl 27.732) 03-SEP-76 14:10 PAGE 29
TEST SECTION
BR 7574}
126252 128252 DATYl: 125252,125252,125252, 125252
TBIT vST4l: LOFPS 8047617 Lono FLOATING POINT STATUS
R e Do DS R IS meniR R T
‘ M ] 7 ' b
' iz RQRXE AL ? R oAt I goxﬂg 24 LE
CuTE1D CMP 8047610,FPS cnecx FLORTING POINT STAT.Z
BEQ e : BRANCH IF OK
HLT 'FPS NOT EQUAL TC CH7&12
173524 STD RZ3, _ ANS! :STORE AC3 INTO ANS. THF. ANC
1279452 173516 Zmp 8:2'452, ans! :CHECK ANS1
3E2 .+4 BRANCH IF K
Ho ™ o4 :ANS! NOT ESUARL T; 1219s:
125282 17382¢ “MP 8.25252 ANS2  :CHECK ANSE
BES .44 :BRANCH IF QK
R :ANS2 NCT EQUA. TC 128252
125252 1T3TE ~™p 8125352, ANS3  ;CHECK ANS3
BEQ .4 :BRANCH IF 0K
HL T 44 :ANS3 NOT EQUAL T2 25252
126252 1T3usk cMp 8125252, ANS4  :CHECK ANSY
BEQ .44 :BRANCH IF 0K
HL T4 :ANS4 NOT EQUAL TD 128252
INIti!!liillliINI!lillillll’iiil{il*ll!i!lllliliili!illil!liilififilii’f’
:TEST 42: TEST LDEXF (LOAD EXPONENT), DOGUBLE MCODE L
: 600135 --> 052525, 062525, 052525, usésas =) 0B7325.062528, 0523825, 283228
: FPS = 047600,  GAC = M2-R7 AC = AC2
I'i'fl"l}}il'l'ii!iilliiili!f!l!!liiiii*ililiililiiiiliiiil'}!rl!{{ifi!00’!0
SCCPE
BR TST42
AE2525 52525 [DAT4Z: 052525,052525, 052525, 262525
047617 vSTW2: LDFPS  s04T617 :LORD FLORTING PCINT STATUS
177762 LOD DAT42, RAC2 :L0AD 052525, 052525,052525, 052523 N2 Al3
0013E FPI42: LDEXP 0000135 ACe 'LOAD 000135 INTC THE EXPIRENT -f ACS
STEPS  FFS :STORE FLCATING POINT STRT.S
047600 CMP a0q7eao FPS :CHECK FLORTING PCINT STe~iS
8EG : BRANCH IF OK
HLT :FPS NOT EQUAL T3 Cwrene
173408 gTD AL2,  ANSI  :STORE nca INTO ANS. THR_ anS+
AE722E 17400 CHP 8067 225.ANS!  :CHECK ANSI
BEG .+4 :BRANCH IF K
HLT +4 :ANS1 NCT EGUA. "o oeT3sS
resczE (73377 LMp 8052528, ANS2  ;IMElK ANGSE



E03

mINOEC-11-DCFPh-B YEST OF .DEXP, STEXP  MACYIl 27(732. 03-SEP-76 14:10 PRAGE 30
OCFPkB.PIL TES™ SECTION

414 BOINCL BEQ LY :BRANCH IF 0
416  I0M004 HLT+4 :ANS2 NOT Eoum. TO 052528
N20 02767 052525 1723380 cMP 8052525, ANS3 gg
§4% 401 BEQ .44 S mﬁ
430 | HLT+Y4 :ANS3 NO sounL 10 052525
S0S43Z D22ThT 352525 173350 CMP 8052525, ANSY 3 CHECK nu;q
3>84al  DOI4CI BEQ .44 :BRANCH [
CCSewz 10004 HL T+ :ANSY NOT sounL 10 052525
iliiilll!iiiiilli!iIll'll»!ll»!lilliiii!#il!llflili’llll!i’iiil!fﬂ’fﬂ&f’
:TEST 43: TEST LDEXP (LOAC EXPONENT:. DOUBLE MOCE
: 000200 --> 140425, 126252, 125252, 128262 == 100025. 12525z, i252¢z, (25282
: FPS = 147616, ORC = Mo-R?,  RC = ACl
: FEC = 1C, FEA = FPIY3’
: lliilliilili!*iillli!i*i!llliliiliii!!i95!**!!!!*99!4!96’6}54ifiliiif!f
005444 104400 SCOPE
035448 000404 BR TSTH3

CCSHS0 140428 125252 128252 DATH3: 1404¢S, (25eSe, (28252, i2825¢2
0OsS4Se 125252

705460 170127 047617 TETH2: LOFPS  8Qu7b17 -LORD FLOATING POINT STATUS
0OC4e4 172667 177760 LOD DATY3, A: :LORD 140425, 135252 125252 12»25: ™Al
005470 176527 000200 FPIN3: LDEXP -oooabo ncz :L0AD 000200’ INTO THE EXPONENT oF ao:
005474 170200 STFPS  FPS :STORE FLORTING poxnr STAT.S

905476 170367 173320 §teT”  FE: :STORE EXCEPTION COCES

OCEs02 022700 147hIE tMP sxqu;s FPS s CHECK LORTING POINT §7ATUS

508508 Q01401 BEQ +4 :BRANCH IF 0

A0ESi0 104000 LT :FPS NOT EounL 10 147616

n0Esi2 022767 000010 1733052 CMF s!0.  FEC :CHECK FLOATING EXCEPTICH 13

AOSE20 001401 BEG .+ :BRANCH IF OK

005522 104090 HLT :FEC NCT EQUAL TO 10

J0SS24 022767 005470 173272 CMP sFPI43, FEA : CHECK FLOATING EXCEPTION ACCRESS
905332 001401 3EQ 44 :BRANCH IF 0K

005534 104000 HLT :FEA NOT EGUAL TO FPIN3

005536 17u157 173240 svo ACi ANS!  ;STORE ACl INTO ANS! THRU ANS

005542 35 100028 173222 cz ﬁoas ANS!  :CHECK ANSI

005550 DO14G1 aso :BRANCH IF OK

BOE582 104004 HL T+4 :ANS] NoT EQUAL TO 100025

908554 022767 125252 1732:2 CMP 8125252, ANS2  :CHECK ANS2

AZESe2 001401 BEQ .44 :BRANCH IF OK

JCESE4 104004 HL T4 :ANS2 NOT EQUAL T 12523S2

705566 022767 12€252 1732.2 CMP 8125252,ANS3  :CHECK ausa

ASEE74 DCING! BEQ .44 - BRANCH ¥r

EOEE?e 104004 HLT+4 :ANS3 NOT EQUAL T2 128252

sTEED0 D@R7e? 12SRSE 172202 tMp 8125253 ANSH  : HEZK ANSHY

::E :s wwe "Twe BEC -‘q :BRQNCH IF Ji‘

- -_— e mmeme o



FO3

MRNCEC-L1-0FPR-B TEST JF JOEXP, STEXP MACYll 27732 (03-SEP-76 [4:10 PAGE 3!
AL V- B TEST SECTION
SI58.0 1Nl HLT+4 ;ANSY NOT EQUAL TO 128252

(RERFRERRRERRERR IR R R PR RESRERR DR RRERERE SRR RRFRRRRAERRERRS 2539008085090

(TEST 4y TEST XP ( EXPONENT) UBLE MQDE
: 177600 --> 04055 12&328.12585 , 125252 == 088125.125252.125252.125252

FPS = 147604, GRC = M2-R?,  AC = ACO
FEC = 12 FEA = FPINM

T T T N T Y Y T R s rrrorprroy
z=Sb.2  i0w80C SCOPE
<oSEid  JQ0wOM BR TSTuY

ooS6l6 Q4OS2S 12S2Sc 125282 DRTHM: Ju0SeS, 1252%e, 125252, 128252
305624 125252

25626 170127 ONTBIT TSTYY: LDFPS  sQNTBIT :LORD FLOATING POINT STATJS

632 172467 1777RC ) Log DATYY, A% :LOAD 040526, 125252, 125252, 1282352 INT" A%

n0Se3% 176427 177600 cErqu:  CExP  si77800.AC0 :LOAD 177600  INTO THE EXPOMENT oF AZ0

305642 170200 STEPS  FPS :STORE FLOATING POINT STATLS

95644 170367 173:52 grgr FEC :STORE EXCEPTION CODES

AESn 022700 147eCH M 8147624, FF5 :“WMECK FLOATING POINT STAT.

00Ses4  OCI40! BEQ 44 :BRANCH IF OK

00Se86  104GSD HLT :FPS NOT EQUAL T 147804

005660 022767 000CIZ 173134 TMP 8.2,  FE: :CHECK FLOATING EXCEPTION CO0E

a0Eeee 301401 8ES ,+4 :BRANCH IF OK

008670 104000 LT :FEC NOT EQUARL TC 12

005672 022767 00SB36 173124 CHP 8FF 4=, FEA :CHECK FLORTING EXCEPTION ADCRESS

3058700 00140} BE L+ :BRANCH IF OK

005702 104000 Mo T :FER NOT EQUAL TO FPINM

005704 174067 173072 ) ACS ANSI  ;STORE RCO INTO ANS1 THRU ANS=

095710 022767 00C125 173084 IMF 8200125, ANS] : CHECK ANS!

005716 001401 BEG L+ :BRANCH IF OK )

J6E720 104004 HL T +4 tANS! NOT EQUAL TO 00012

nQS722 022767 125252 173054 CMP 8125252, ANSZ  ;CHECK ANS2

508730 00140! BES .+ :BRANCH IF OK

008732 104008 HLT+4 :ANS2 NOT EQUAL TC 25252

305734 022767 125252 173044 CMP 8125252, ANS3  :CHECK ANS3

35742 00.401 BEG L+ :BRANCH IF OK_

66E744 1044 HLT+4 :ANS3 NOT EQUAL 15 125282

N0E74 028767 125252 1733034 CMP $125252,ANSY  :CHECK ANSH

05754 O0140: BEQ .44 :BRANCH IF 0K

SIE7SE 104204 HLT+4 :ANSY NOT EQUAL To 125252
;li!iitil!i!lil!iifilifiiiiil!llliiililiiiililiillllli!illiib§§§99§§i§§§
:TEST 45: TEST LDEXP (LOAD EXPONENT), DJUBLE MODE
: 177575 --, 050505, 050505, 050505, 058508 == 077305,0805085, 263555, 252828
: FPS = 147600, SWC = M2-R?, AC = RC3
: FEZ = 1z FER = FPINS

: ffff*ffff!ffiii‘fi{fiii’*liifiif*il'*iiil’i‘liifQ*QQ{Q*QQ9{*”*0*’{*!9’*’0

T G- am ® W AP R S - -



MR NC C-li-DC‘Pk-E

cCFPRB.PL

20ST60

JCET

05 hbH
80577

005774
006200
035004
026017
AGEq13
96316
G0s0zce
306024

oob02b
006034
206036

006040
006046
006050

006052
006056
COed6Y
006066

0C6070
3Ced78
5Cel100

QCeiCe
oebllg
0oglie

Soelld

clelez
Coelzd

coelee
Q0&130

£0el32
308140

COtlue

104400
000404

£20e08

104000

022767
001401
104000

022767
001401
104000

174367
022767
201401
104004

022767
001424
104004

022767
0C14C1
104004

0e27e7?
CO14C1
12400+

104400
000404

140425
125252

170127
172687
17e£27

[al-Aala
17Cece

e dectton - o1

J5350S

Q47617
177760
177575

173004
1476C0

003012

0Ce204

172724
077308

050808

0s0sCE

852508

12528t

C48ECS
1777€5

800203

0S0S0S DATHS:

17766

i72756

172716

172706

172678

172656

TSTYS:
CPINS:

MACYLl 27.732)

SCOPE
BR

GO3

03-SEP-76

TSTHS

14:10 PRGE 32

050505, 050505, 050505, 050505

LDFPS
LDO
—EXP
STEPS
2 ST
CM2
BEQ
HLT

cne
BEG
MLT

cMP
BEG
MLT

STD
cMP
BEG
HLT+M4

CHP

BEQ
HLT+4

cMP
BEG
HLT+4

cMP

BEG
HLT+4

8047617
DATNS, AC3
$1775%5.AC3
FPS
FEC
8147600, FPS
. +4
812, FEC
.+4

#FPINS, FER
.4

AC3 ANS!
sgz?aos.aN51

#050505, ANS2
. +4
8050505, ANS3
+4

8050505, ANSH
.44

;LOAD FLOATING POINT STATuS _
:LORD 0S0S0S, 050505, 050525, 050505 INTC RS2
:LOAD 177575 INTO THE EXPONENT OF AC2
:STORE FLORTING POINT STATUS

: STORE EXCEPTION CODES

!CHECK FLORTING PCINT STAT.S

:BRANCH IF OK

:FPS NOT EQUAL TO 147800

:CHECK FLORTING EXCEPTION CO0E
; BRANCH_IF 0K
:FEC NOT EQUAL TO 12

;CHECK FLOATING EXCEPTIOM ACCRESS
; SRANCH _IF 0K
:FER NOT EQUAL 70 FPIHS

:STORE RC3 INTO ANSI THRU ANSH
; CHECK RNSI

:BRANCH IF OK
:ANS1 NOT EQUAL T2 077305

: CHECK ANS2
; BRANCH IF 0K
;ANS2 NOT EQUAL TO O80SCS

:CHECK ANS3
+BRANCH IF 0K
:ANS3 NOT EQUAL TO J5QSZS

:CHECK ANSY
s BRONCH %F 0K
:ANSY NOT EQUAL TC £80SQE

(REFRRAREEERHERREEREREREEERREERERLERREERRERR RS ERERREER R RERRRRRRIRRRRERER

: TEST 46:

TEST LOEXP (LORD EXPONENT)
000203 --> 140425, 125252, 125252, 125252 ==> 100&25. 125252, 126252, 125253
FPS = Q46612 7 AC = AC2

SRC = M2

DOUBLE MOCE
-R.

;i*fi**i!*iii*iiil**i!i****iil*iil**llfi**ii***ii*i*liif**if*#ifii*i*iii

CATHE:

TETHE:
Fpids:

SCOPE
BR

TSTHE

140425, 125252, 125252, 125252

LOFPS
LOD

LCEXP
STFPS

$04E605
OATYG, ~ AC2
#000203.ACE
FPS

;LORC FLORTING POINT STR™JS .
:LORD 140425, 125852, 125282, 125353 IV C &2
«LOAD £00203 INTJO THE EXPCNENT CF RliZ
«STORE FLORTING FPOINT STRTLS



"Q¢NDE»E§1'Dprk'u

£24E

cCe180
J0E164
00bibd

006‘?0

006204

006206
00821M
206216

SCea44
006246

006250
006256

006260

J0e324
aJe33e
J0e334

J0E336
oob34d
COe3uk

UEErOU
001401
104000

174267
022767
001401
104004

022767
001401
104004

022767
001401
104304

022767
001401
104004

104400
000404

Q40525
125252

170127
172467
176427
170200
022700
001401
104000

174067
0227&7
0C1481
104004

022767
0C.+01
104504

Q227E7
001431
104004

ﬂe:?;?

ﬂwo‘“&

172606
100625

125252

12525¢

125282

128252

04Sel1?
177780
17757

J45804

172470
00CoCe

00000C

0caoa0

sisjonisis

172600

172570

1725¢0

1725852

12525¢

17e482

172482

MRCY1L 27.732)

cMP
BEQ
HLT

STD
gMP
BEQ
HLT+4

CMP
BEQ
HLT+4
CMP
BEG
HLT+4%
cMP
BEQ
HLT+4

HO3

C3-SEP-76 14:10 PRGE 33

8046612, FPS
+4

AC2 ANS1
-1oﬁsas ANS]

8125252, ANS2
.+q
8125252, ANS3
.44

8125252, ANSH
.44

;CHECK FLORTING POINT STRTUS
:BRANCH_IF 0K
;FPS NOT EQUAL TO Queel12

; STORE AC2 INTO ANS1 THRU ANSH
:CHECK ANS1

s BRANCH IF 0K

:ANS1 NOT EQUAL TO 10062:

; CHECK ANS2
;BRANCH IF 0K
;ANS2 NOT EQUAL TO 125252

:CHECK ANS3
«BRANCH IF 0K
sANS3 NOT EQUAL T{ 125252

:CHECK ANSY
:BRANCH IF 0K
;ANSY NOT EQUAL TO 125282

TERRRRERRERRAERRARERERADRRIRARERRARS SR RFRERRRER R RRERR R RERSRADSRRRF S22
YEST LDEXP (LORD EXPONENT), DOUBLE MCDE

TEST 47

177577 --> 040525 125252 125252 AEQESE E=> 000003, 000058, 202002, 353

: FPS = O45B04,  SRC
i&iil*ill!lili}liiliitiiilii!iiiiHanl*iiiiiiiiii!l!llii#ii*liiif'}}{fi{

SCOFE
BR

TSTY?

040828, 12525¢, 12525¢, 125¢e¢2

LDFPS
LDD
LOEXP
STFPS
CMP

BEJ
HLT

€10
gHP
gk
H_T+4

cMP
BEG
HLT+4

CHP
BEY
HLT+Y4

(M
BEG

8045617
DATS7, ALO
17757“ ACO

FPS
8045604 FPS

ACO HNS .
ccodcoo ANS1

#000000, ANS2
o‘q
#000C00, ANS3
.4

800000C , ANSH
.+

-LORC FLORTING POINT STATUS

+L0AD 040525, 125252, 125252, 125252 1
:LORD 177577 INTO THE EXPCNENT oF @
:STORE FLOATING PCINT STA%US

:CHECK FLOATING POINT STR™JS
:BRANCH IF OK

:FPS NOT EQUAL TC ON5B0M

<CTORE ACO INTO ANS! “HRL RNSH
: CHECK ANS1

:BRANCH IF Ok

:RANSI NOT EQUAL TC 0oC2o2C

:CHECK RANS2
:BRANCH IF Ok
sANSZ NOT EQUAL TG 2003225

: CHECK ANS3
:BRANCH IF QK
+ANS3 NOT EQUAL TO £5C3220

: oHECK ANSH
«BRRANCH IF OK

NTO
C

> a
q
-
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[ 19



. Fnk°9

.-

3C636L

3:5364

326366
08374

036376
036402
BOEHOE
BGEY e
306414
00B416
B0EHE?
006424

00B42S
ABEu32
2GE4NG
0642

006444
236452
JCE454

206456
Q0e4e+
CCe4tb

JOEH7D
J0BH7H
03652C

JCesce
J2e504

0Je506
0CeS14

COesle
&‘22

-uC:J:

124084

e
£20404

¢55:1
121213

170127
172467
012708
17640S

174087
022757
001401
104004

022767
gC1401
104004

022767
001401
104C0Od

§22767
001401
125304

104400
000404

052525
0sz528

170127
172667
0i27%¢
176kl2

mm
tﬂtﬂ

ielale

gu7el”
177780
177736

047ELD

121zl2

la.ele

3ceses

103

:F 5?E\° STEXP MACY}L 27.732; 03-SEP-76 i4:10 PAGE 34

HLT+4 ;ANSY NOT EGUAL TC 000000

ll}!i!i!iiiliil!iiillliiilil!!*lll!llllllill!l!!llll!iiiifi!iil99949§§4
: TEST so TEST LDEXP (LORD EXPONENT), DOUBLE MODE
: 706 --> 156212 121212 121212 Aglaxaco => 121412,121212,121e12,121212

: FPS = 047610,  SAC
§l§§lll!ll§il§§§§lilliill!llilli!!"li!!ll!ililiilifl{iiii’#!f!ift!i'f’

SCOPE
BR TS750

DATSC: 15e212.l12121e,l1el212,lelzle

TGTS0: LDFPS  8sQMTBLY :LORC FLORATING PGINT STATUS
LDD 5ATS0, ACO :LOAD 156212,12:212,121212,1212:2 IN"Z A2
MOV sg???bs RS PUT EXPONENT INTS RS

€P18G: ' LDEXP SLORD 177706 INTO THE EXPONENT OF ACO

STEPS  FP§ :STORE FLOATING POINT STAT.S

cmp 047510 FPS :CHECK FLOATING POINT STATL

BEQ :BRANCH IF OK

Yk { :FPS NOT EQUAL TO O47&i0

ST ACO ANS] :STORE nco INTC ANS1 THRU ANSHY

2MP 8121412, aNS1 :CHECK ANSI

BEGQ , 44 :BRANCH IF CK

ML T4Y4 :ANS1 NOT EQUAL TO 121412

CMP 8121212,ANS2  ;CHECK ANS2

BEQ .44 :BRANCH IF OK

HLT+4 :ANS2 NOT EQUAL TG 1212:2

cMpP 8.21212.ANS3  :CHECK ANS3

BEG 44 :BRANCH IF OK

HL T +4 :ANS3 NOT EQUAL T2 1212:3

oMp £121212,ANSH - CHECK ANSH

BEG .44 :BRANCH IF QK

HLT+4 :ANSY NOT EQUAL TO 121212
i*iiiii*itilill!l*liliiililiii*i*ili!ll!*iil*iili!iliii*!iilii*ili!liii
: TEST Si: TEST LDEXP (LOAD EXPONENT), DOUBLE MCDE
; 000135 --» osasas 052525, oseses osésas => 067325,0523525, 052525, 052525
: FPS = 047600, SRS = MD-R z AC2

;il*!i*i*ii****i**i**ililiii****lilillii**!*iii***iiliiiiiii!fifi*ii*ili

SCOPE
BR TSTS!
DATSl: (052525.052525, 052525, 352525

TS7S1: LDFPS 8047617 :LORD FLOATING POINT STATUS

LOC DATSI, AC2 :LOAD 052525, 052525, 052525, 053525 INTC AC2
MG 8000135, %2 :BUT EXPINENY INTC R2
FFISL: LOEXP  R2. a2 : _OAD 000135 INTC THE EXPONENT OF ACE

. e e e e —— — —— W - ol i .



MRINDEC-L1-DCFPR-B

JIFPkB.PILL

006534
006536

BakeNs
iogeds

036560
0Jeske

00eSe4
008572
006574

0g6576
36604
006606

BOEE1E

Q06820

0Ceb2e
CObba4

006626
006534

C06636
ogeg4e
006646
006652
006660
006666
006670
006574
C36676

C0&7C0
006706
Qoe710

Que71e
Ce720
aoe72e

170200
022700

1848
bo308s

001401
104004

Q22787
001401
104004

Fa81

104004

88!

104004

104400
000404

000000
000000

170127
172567
175167
013767
042767
17020C
022700
001401
104000

022787
C01401
104001

022767
001401
104002

JO3

TESY OF _DEXP, STEXP MRCY1L 27(732) 03-SEP-76 [4:10 PAGE 35
TEST SECTION

047830

b5
052525

052525

J82525

000000

047617
177760
172130
177776
177783

047610
177800

000C!0

17eeee

172212

172ele

172172

saslisls

[y Sy

~J~3
e pme

—Y
oL

17074

1720t4

S5TFPS  FPS :STORE FLOATING POINT STATUS
CHP 047600, FPS : CHECK FLORTING POINT STATUS
BE o FRQ CH
HL PS nor EounL T0 04760C
37 A ANSI  ;STORE AC2 INTO ANSI THRU ANSY
W WEsaas Ml iRMERR ARG
BEJ P BRQNCH IF OK
HLT+4 :ANS1 NOT EQUAL TO DB7325
CHP 1052525,ANS2  ;CHECK ANS2
BEQ .+ 'BRANCH IF OK
HLT+4 :ANS2 NOT EQUA. TO £5252%
CHMP 80S2525,ANS3  ;CHECK ANS3
BEG .44 !BRANCH IF OK
HUT+4 : ANS3 NOT EQLRL T0 052525
CMP 8052525, ANSY  :CHECK ANSY
BEQ .49 :BRANCH IF OK
HLT+4 :ANSY NOT EQUAL TO 052525
R 22222 3222222222222 2222222222223 2222322222222 22222222 L
TEST 52: TEST STEXP (STORE EXPONENT), DOUBLE MOGE
000000 000000 000000 00060G --> 177500
: 04?7 cC = 10 AC = ACI 0ST = Mg-R7
i*****i*****i*i**ii**i****ii***iii****i*{**i***i**i**i******iiifiiliiii
SCOPE
BR 15752
DATS2: 000000. 000000, 00GC00. 000000

TST52: LODFPS  #047617 :LOAD FLOATING POINT STATJS
LDD DATS2, AC! :LOAD 000000, 000000, 000000, 003038 INTS ACL
STEXP  ACI ANS!  :STORE THE EXPONENT OF ACI IN ANS!
MOV asPS.  AaNS2  GET CPU STATUS

BIC 8177780 ,ANS2 *SAVE CONDITION CODES

STFPS rp :STORE FLORTING POINT STATLS

CMP 8047610, FPS :CHECK FLCATING POINT STATLS

BEAQ L +4 :BRANCH IF OK

HLT 'FPS NOT EQUAL TC 047813

CMP 8177600, P%S1 . CHECK ANS1

BEG L +4 :SRANCH IF OK

HoT+] ‘ANS1 NOT EQUARL TC 177800

CMP $10. ANS2 :CHECK ANS2

BEQ L +4 :BRANCH IF OK

HLT+2 -WRONG CONDITION CODES!
ii*ii*i***¥~i*****i*iii*i*ii!*iiili*****!*ii**i**i!*iiiitiiiiiii*iiifi*
: TEST 53: TEST STEXP (STORE EXPONENT), DOUBLE MODE

; 040161, 061934, 143434, 125252 --> 000000
: FPS = 847604, FCC = 04, AC = ava. DST = Mp-R”

—_— - — - —— o ———— - e——m— —— e ———



MRINCEC-i1-DFPKk-B

OCFPKB.P

.1

006724
006726

936730
006736

C067°40
006744
806750
006754
006762
006770
036772
305776
007000

007002
037010
007012

CO701Y4
C873J22
0070c4

007926
007030

007032
307040

007042
007046
007052
007056
007064
007072
007074
907100
007102

0C7104
007112
007114

00?7116
0C71e%

co7.2k

104400
000404

C40161
125252

170127
172767
175367
013767
Q42767
170200
022700
001401
104000

022787
001401
104001

022767
001401
104002

104400
000404

040200
125252

170127
17¢667
175267
013767
042767
170200
022700
001401
104000

022767
001401
1040C1

022767
C0140!
1040%¢

TEST OF %DEXP,
TEST SEC

800000

00Coo4

125250

047617
177760
171724
177776
177760

047600

000001

8oeaen

ION

145434

172022
172014

171772

171782

125250

171720
171712

171675

1718EC

STEXP

MACYLl 27(732)

KO3

03-SEP-76 14:10 PARGE 36

- —_— - - -

232221222222 22222222 221222222223 22222222222 222223222222 222222)

SCOPE
BR

TSTS3

DATS3: O0M0161.061434, 143434, 125252
TSTS3: LDFPS  80N7617 :LOAD FLOATING POINT STRTUS )
LDD DATS3, RAC2 :LOAD 040161,061434, 193434, 125252 INTS AC32
STEXP  AC3 ANS! ‘STORE THE EXPONENT OF AC3 IN ANC!
MUY S#PS.  ANS2 :GET CPU STATUS
BIC 3177760, ANS2 :SAVE CONDITION CODES
STFPS  FPS :STORE FLOARTING POINT STATUS
CMP 8047604, FPS +CHECK FLORTING POINT STATUS
BEQ .44 'BRANCH IF OK
HLT :FPS NOT EQUAL TO 047604
CMP £000000, ANS! :CHECK ANS1
BEQ L +4 : BRANCH IF OK
HLT+! *ANS1 NOT EQUAL TO DOCOOC
CMP 804, ANS2  ;CHECK ANS2
BEQ .44 :BRANCH IF OK A
HCT+2 : HRONG CONDITION CODES!
(ERRREEERREEREEERERREEREREREEERERRERREEEEREEEE R LR EREERERRRERRFREERR 2R R
:TEST SM: TEST STEXP (STORE EXPONENT), DOUBLE MCOE
: 040200, 125250, 125250, 125252 --> 000001
: FPS = 047600, FCC = 90 AC = AC2 DST = M&-R7
;**ti****iiii*i*!***ii!i*}i**iiii!ii*l**lii!i!ii‘i*li*i*l!fi!iiiiiiii!ii
SCOPE
BR TSTSY

DATSY:

TST54:

0402C0, 125250, 125250, 125252

LDFPS
L

2047E17
DATSH, AC2
Ac2 ANS1
auPS,  ANS2
uéz7?so.nnse

FPS
#047600,FPS
.4
8000001 .ANS]
.+4

s00, ANS2
.+

-LOAD FLOATING POINT STATLS B
:L0AD 040200, 125250, 125250, 125252 INT2 A2
:STORE THE EXPONENT OF AC2 IN ANSI

:GET CPU STATUS

: SAVE CONDITION CODES

:STORE FLORTING POINT STATLS

:CHECK FLORTING POINT STATUS

:BRANCH IF OK

'FPS NOT EQUAL TO 047630

; CHECK ANS|
;BRANCH IF OK
+ANS1 NOT EGUAL TO 0OGC2!

: CHECK ANS2
+BRANCH IF 0K
:WRONG CONDITION CODzS!




MRINDEC-11-DCFPK-8

<FPKB.P!!

207130
SHRPR

027134
007142

007144
0C7 150
037154
007160
007166
007174
007176
007202
007204

007206
007214
007216

007220
907226
007230

907232
007234

007236
007244

007246
037252
007256
0C7262
087270
037276
037300
007304
007306

007210
007216
Ga73220

104400
00C4O4

042525
052525

170127
172787
175367
013767
Q42767
170200
022700
001401
104000

022767
001401
104001

022767
001431
104002

104400
000404

125252
125ece

170127
172567
175167
013767
042767
170200
022700
0C1401
104000

022767
301401
104001

L03

TEST OF LOEXP, STEXP MACY1l 27(732) 03-SEP-76 I4:10 PAGE 37
TEST SECTION

(RERERRRREERRREERERRREEE LR RERREEREEEERRERERRRERERERERERERERRRERRERESE S22

: TEST 55: TEST STEXP (STORE EXPONENT), DOUBLE MODE
: 042525, 052525, 052525, 652525 --> 000012
: FPS = 047600, FCC = Q0 AC = AC3 CST = M&-R?
SRR R R R B R R AR R R R AR R R R AR AR AR R RS SR RERS 454
SCOPE
BR TSTS5
052525 052525 DATSS: (Q42525, 052525, 052525, 052525
047617 TSTSS: LDFPS 8047617 ;LORD FLORTING POINT STATUS
177760 LDD DATSS, AC3 :LOAD 042525, 052525, 052525, 052525 INTL A
171622 ) STEXP AC3 ANS1 :STORE THE EXPONENT OF AC3 IN ANSI
1772776 171616 MOV a8PS,  ANS2 +GET CPU STATUS
177760 171610 BIC 177760, ANS2 :SAVE CONDITION CODES
STEPS  FPS :STORE FLOATING POINT STATUS
047600 CMP 80497600, FPS :CHECK FLORTING POINT STATUS
BEQ L+ -BRANCH IF OK
HLT :FPS NOT EQUAL TO 047530
000012 171566 CMP 8000012, ANS] - CHECK ANS]
BEQ .44 :BRANCH IF CK
HLT+1 :ANS1 NOT EGUAL TO J00CI12
000000 171556 CMP %00, ANS2  :CHECK ANS2
BEQ . +4 :BRANCH IF OK
HLT+2 : WRONG CONDITION CCDES!
;**i********************i**i*****i**i***i***i*i****i*i***l****i*i**ii*ii
: TEST 56 TEST STEXP (STORE EXPONENT), DOUBLE MODE
: 125252, 125252, 125252, 125252 --)> 177725 i
: FPS = 047610, FCC = 10, AC = AC!, DST = MB-R7 .
;*i!i*!ilii!!li!!ii!ii!i!i!!!}il*l!lii!ii*i*il**ii*i*i!*liiii*iii*i****i
SCOPE
BR TSTSE
125252 125252 DATSB: 125262, 125252, 125252, 125252
047617 TSTSE: LDFPS  #047617 :LOAD FLOATING POINT STATUS
177760 LDD DATSE, ACI :LOAD 125252, 125252, 125252, 125252 INT2 AS!
171520 STEXP RCI ANS] :STORE THE EXPONENT OF ACI IN ANS!
177776 171514 MOV 8PS,  ANS2 :GET CPU STATUS
177760 171506 BIC 8177760, ANS2 :SAVE CONDITION CODES
STFPS  FPS :STORE FLOATING POINT STATUS
047&10 CMP #047610,FPS :CHECK FLORTING POINT STATUS
BEG e :BRANCH IF 0K
HLT :FPS NOT EQUAL TC 047810
177725 1714&Y4 CMP 8177725, ANSI : CHECK ANS1
BEQ .44 :BRANCH IF ok =
HLT+1 tANS1 NOT EQUARL TO 1777258

———— —— e -
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MRINCEC-11-DCFPK-B

OCFPKB.PII

0C7322
0Cr33C
007332

C07334
007336

0C7340
067346

007350
007354
007360
007364
007372
007400
007402
067406
007410

007412
0G7420
007422

007424
007432
007434

007436
CO7440

007442
GC7450

007452
007456
007462
0C746b
27474
807502
007504
007510
Q07512

022767
001401
104002

104400
000404

0Se 325
0S2ses

170127
172767
175367
013767
Q42767
173200
022700
001401
104000

022767
001401
104001

022767
001401
104802

104400
000404

177777
177777

170127
172567
175167
013767
42767
170200
0ge700
001401
10400C

TEST OF LDEXP, STEXP
TEST SECTION

000010 171454

052525

047617
177760
171416
177776
177760

047600

030082

CoC0asa

177777

047617
177760
171314
177776
177760

C47&00

052525

17i4]¢e
171404

171362

1713t

1712}
171382

MACY1! 27(732) (03-5EP-76 14:10 PAGE 38

¢Hp %10, ANS2 ; CHECK ANSZ

BEQ .44 ; BRANCH If OK

HLT+2 ; WRONG CONDITION CODES!
RIS RERERE ISR RE R R R L RRRR R R R LA BRI AR SRS S
; TEST 57 TEST STEXP (STORE EXPONENT), DCUBLE MODE

052525, 052525, 052525, 052525 --> 000052
FPS = 047600, FCC = 0O AC = AC3 0ST = Mg-R?

;*(*********!*****i*i!*******l**iii**ll**l**i*!*il***§*******i**!i**i*ii

DATS?:

TS757:

SCOPE
BR 15157
05e52s, 052525, 052525, 052525

LDFPS  #047617
LOD DATS7, AC3 ' LOAD 052525
STEXP  AC3 ANS1  'STORE THE EXPONENT'OF ARC2'IN ANSI
MOV 3PS, ANS2  :GET CPU STATUS

BIC :1;7?60,9N52 :SAVE CONDITION CODES

;LORD FLORTING POINT STRTUS

STEPS  FP :STORE FLOATING POINT STATUS

CHP #047600, FPS :CHECK FLOATING POINT STATUS

2EQ .+ :BRANCH_IF 0K

HLT :FPS NOT EQUAL TO 047600

CHP #000052,ANS1  ;CHECK ANS1

BEG .+ :BRANCH 1F OK

HLT+1 :ANS1 NOT EQUAL TO 00OCS2

CNP 800,  ANS2  ;CHECK ANS2

BEQ .4 :BRANCH IF OK

HLT+2 :WRONG CONDITION CODES!
JREREREREEREREEERRFRRFERERRERRREREREEERERERERREREREREEERERELRRERRREFERES
: TEST &0: TEST STEXP (STORE EXPONENT), DOUSLE MODE
; 177777,177777,177777,177777 --> 000177
: FPS = A47806," FCC = 0O, AC = ACI, DST = Mo-R7
;****i***!******lli*iii*****i!!*l*i*ii**l*l*!***i*ii*i****i******!tii**l

SCOPE

BR TSTE0
DATB]: 177777,177777,177777,177777
TST0: LOFPS 8047617 ;LOAD FLOATING POINT STATUS

LDD DATED, AC!L :LORD 177777
STEXP  ACl ANS1  ;STORE THE EXPONENT OF AC1 IN ANSI
MGV a#PS, ANS2  GET CPU STATUS

BIC séz?,su,nnse :SAVE CONDITION CODES

STFPS  FPS ; STORE FLORTING POQINT STATUS
CMP $047600,FFPS ; CHECK FLORTING POINT STA7LS
BEQ . 4 :BRANCH IF OK

HT (FPS NOT EQUAL TO O475C0

052525, 052525,082525 TNTC Al3

177777,177777, 177777 INTS REL

- -



MRINDEC-11-DCFPK-8

OCFPKB.PLI

007514
0C7s22
007524

007526
CC7S3M
007S3E

007554
007560
06756
037570
007576
oC7604
00760E
Co76l2
0C7614

007616
007624
007528

C07630
007236
007640

0C7542
007544

CC7&46
007654

007656

022787
001401
134001

022767
001401
1040C2

104400
000404

000200
0C300C

170127
172767
175367
0137€7
GNc767
170200
022700
001401
104000

022767
001401
104001

02e767
001401
1040Ce

104400
000404

125252
125252

170127
172467
175003
013767
Q42767
010387

TEST OF LDEXP,
TEST SECTION

000177

€00030

000C00

Q47617
177760
171ele
177776
1777e0

047610

177601

gcenlo

125252

047617
177760

177776
177760
171072

171260

171250

€00oas

171156

171146

125252

[y Y
-~
>t p—a
oo o

STEXP

—

' NO3

MACY1i 27(732) 03-SeP-76 14:10 PAGE 39

CHP #000177 ,ANS! ;CHECK RANS!

BEQ .44 :BRANCH IF OK

HLT+1 tANS1 NOT EQUAL TG 000177
CMP 800,  ANS2  ;CHECK ANS2

BEQ .44 :BRANCH IF OK

HLT+2 :WRONG CONDITION CODES!

CEEERRFRRFRERLERRRRERRERERRFREREEREREEEE IR F R ERR AR AR F AR R R RER RS AL 2 H
; TEST B1: TEST STeXP (STORE EXPONENT), DOUBLE MOCE

000200 000000,000000,008000 -=y 177601
FeS = 047618, FCC = 10, AC = AC3. nST = M-R7

;¥ii!**************¥!**l*l****i!**!!i*l**l**l*i*li*!****li*ii**if%f%*!f&

SCOPE
BR 15761

DATRi: 00C200,000000,000000,000080
TSTel: LDFPS  #047617 - 0AD FLOATING POINT STATUS
LCD DAT6I, AC3 'L6AD 050200, Bondda, 030606, 000008 INTC AC3
STEXP AC3 ANS :STORE THE EXPONENT OF AC3 IN ANS!
MOV asP§ nngs ;g T CPyY Brgrgs
BIC $177760, AN :SAVE CONDITION CODES
STFPS  FPS :STORE FLOATING POINT STATUS
CMP 8047610, FPS :CHECK FLOARTING POINT STATUS
BEQ et :BRANCH IF OK
HLT :FPS NOT EGUAL TO 047610
IMP £177601, ANS1 : CHECK RANS1
LEG C+4 BRANCH IF OK
HLT#+% :ANS1 NOT ESUAL TO 1778G1
CMP $10.,  ANS2  ;CHECK ANS2
BEQ .44 :ERANCH IF OK
HLT+2 : WRONG CONDITION CODES!
;li*l********i*****i**l*************!******!***l*i*******i*iil**i*!!i!!i
: TEST B2: TEST STEXP (STORE EXPONENT), DOUBLE MODE
; 125252, 125252, 125252, 125852 --) 177725
: FPS = 047610, fCC = IO AC = RCO DST = MO-R3
;!i*i**i*liiif******i*****i****!iii****i********ii******i****i**i*****!*
SCOPE
BR TSTB2
DAT&2: 125252, 125252, 125252, 125252
TSTE2: LCFPS  $047817 :LOAD FLOATING PCINT STATUS
LOD DAT62, ACO ' LOAD 125252 1esasa.1§sasa.1asasa INTC A2
STEXP  ACC R3 tSTORE THE EXPONENT OF ACO IN R3
MOV asP8, ANS2  :GET CPU STATUS
BIC 8177760, NS :SAVE CONDITION CODES

MoV R3. RANS1 :SAVE R3 FOR TYPING

- ——
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ol St " €OC NAT € ®2 -us::-

::.-9? .Qz-to LYY .- t:_ éE.l’ s.. ::.H“‘:: .."(\,K “?

- . r Ry M

¥“§ %ﬁ& a e i not £5ad v iveg

TooTIe REETET IToCiD itile sve BiZ.  SANSZ CMELK

== NE ooiell BES o4 :BRANCH IF ¥

eteman’ S alot- RLY JWRONG ONCITION Z5LES!
00QiiQOQQOQOQGOQOQQIQQOGQOQ!QQOGlQQOQ!ll!l.l!’l00090000!000000000000000

TES” 83: TES™ STEXP (STORE EYPONENT., OUUBLE “CO

: 352525, 2625¢2= , 052626, 05252 agohss
: FPS = ANPRIC, .. = L. S-S 28° = -G
00000000050QQQQQ!!!"!Q!O’!’QOQ&QO0900090909000‘0000!09000000000000000‘

sonnl W' 5:2PE

olapa <clille/ss 0" 8k "33

ggffsa SESESE 2623858 52828 CaTe3: 082528, 06252%, S€252€, DEF52%

X7ee §;°12: gg:gég *$73: L IF ggg*s., a" 1 SR FLORTING PLINT 5;§;§°~5 I

2% ek che S SRR g S 00

ol 13787 (77776 1TiD02 Moy 3RS, a2 LZE” ey STATLS

;moos gwm 177780 iTIRTN e 817 P60, ANEZ sn& ongmgn CODES

£13010 010467 (77786 M3y Ry ANS ]

.04 17020C STEPS  FPd STORE FLORTING pcx~* I

2:0016 022700 Du47BS Tup 8047630, FPS : CHECK FLORTING BOINT S°aA~_ %

si0022 OC1471 SE 3 e gnnncu IF )

00N | HLT PS NOT EaunL ") O4TRIC

213026 022767 0C00SZ 170746 CMp 0OCCSE, ANS) :CHECK ANS!

210034 O0I4C BE3 e :3RANCH IF OK

2.003e 1068001 RS :ANS1 MOT ESURL "o 0ooCSs

S:00NC 022787 000O0D 17073 oy 80C,  ANS2  :CHECK ANS2

C1004€ OCIMC: BES Ry :BRANCH IF OK

21008C 124232 HLT+2 :WRONG CONDITION CODES!
(RPN R R AR R R R R R E R R RN RN R AR B REE R AR BB R AR R R RN RS RS C R R D200
:TEST Bu: EET STEXP (STORE EXPONENT), DOUBLE MOOE
: 050282, 125252, 125252, 052525 --> 000ofu!
: FPS = 047600, FCC = 00 aC = a2, "ET = M3-B
.Qilil!fiilli!lliiiliilillliilll‘ii!!!90*&!0000}#.9509{00090*09}#99#0009

215082 104400 SCOPE

215084 DAouDY BR TS ey

opte 12 ;ggggg 128252 125282 LA'e+: NSN2CE, 125252, 125252,082528
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Q47617
177760
20CCCe
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MACYLl 27.732) (03-SEP-76 4:10 PAGE 4!

LDFPS 8047617 ;LCRD FLOATING POINT S°ATJS o
LOp © DATEW, AC2  iLORD 05252, 125252, 125252,352525 I3 A2
-

STEXP ACZ, POe :STORE THE EXPONENT OF AC2 IN .2

BR 418

HALT

HRALT

MALT

MOy 38PS,  ANS2  GET CFU STATUS
BIC  mi77Pe3,AN32  (SAVE COMCITION CCOES

S°FFS  FP3 :STORE FLOATING PCIN™ STa" S
Sme 80S7800,FPS :CHECK FLOATING POINT S°a~.3
83 .4 ' BRANCH TF OK

MLT :EPS NOT EGURL TC CWPel0

M2y RNRBY NS

cMP 802004 , ANS ] . CHECK ANSI

BEQ e :BRANCH IF CK

HLT+] (ANS! NOT EQUAL "C 220fu:
CMP 800, ANS2 :CHECK ANS2

2€3 L+ ‘BRANCH IF 0K _

HLT+2 -MRONG CONDITION COCES!

(RPRRRRRRSEEEEERER R RN R SR RR RS AR ERER R RR PR BRI RRR RS SRR R ED L RS20 089 0029
£5: TEST STEXP (STORE EXPONENT), DOUBLE MCOE

027616, 161616, 034343,070707 ~-> 177737
FPS = O47610, FCo = 10 RC = RCO 0S” = M350

CPEEERERRR R EREae R bt en s nneeen sl ae et sttt anesesse

SCOPE
BR TSTES

027616, 16i616,034343,27C7C7

LDFPS 8047617 :.0RD FLOATING POINT STR'L .
L0D DRTES, ACC +LCAD 027B16,161616,3349343,3727C7 IN°C a22
CLR RNFBS

STEXP  RCO, (PC)+  ;STORE THE EXPONENY CF RCC IN .e2

0
.+10

MOV 2#PS, ANS2  :GET CPU STATLS

BIC 8177760, ANS3  SAVE COMDITION CODES A
FE3 :STORE FLOATING P2INT STRT.3

CHP 1047610, FPS :CHECK FLORTING PCINT STWT.S
. ¢

BEQ :BRANCH IF CK
HT :FPS NCT EQUAL T3 2978.2
MOV ANRES, ANSI

“MP 8177737 ANS: < SHEZKr ANS]

BE: L+ :ERANCW IF O



DO4

saégas:-:x-ocrph-a TEST OF LDENP, STEXP  MACYI. 27.732: 03-SEP-76 iM:10 PAGE 42
cexB.BlL TeST SEcTidn
015306 19800! MLT+] :ANS1 NOT EQUAL 10 177737
s Ig ?; - JCCCIC I7Ceed égi_’ . i S . “SE ;ggﬁgéhaﬂ?a y
Ei-aéa o Tlet] mte2 SW8ONG CONo¥TIoN cooES!
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31373
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GGCaae

105267
016737
005767
001760
QiE71E

ct"'\ ﬂ

TEST OF LOEXP, STEXP

BE_L AND 5ot ROUTINE

00200C

&30207
011604

010000
201gee
880023

1062

301062
BCO04E

0004CC
17757C
177570
040000
0o400C
170301
001136
030001
170254

001080
170244

170235
17023C
00.03e

(ol el
Cuu.:"

177870
gglave

oy gy
rrs

‘

)

17757C
175334

17757C
177570

170271
17026l

177574

177572

DONE

38:
YESRT:
JEMT:

13:

es:
SRVLRD:

KIT:
LiER:

EO4

MACYLl 2717321 03-SEP-76 (4:10 PRGE 43

SCOPE

gﬁz .§uxo , J8SWR p;nc THE BELL®

MOV OBELL .TYPE TYPE A BELL

TYPE Tyt

CLR 2(6) :CLEAR TRACE TRAP

BIT sSWiZ, J8SWR ‘RUN WITH TRT?

BNE 28

COM TRPB

BPL 2$

Bl 220, (5) SEY ancg M P

MOV sBEAIN, - (&) tJUMP TO START OF TEST

BR YESRT

MOV 8BEGIN, - . E. JUMP TO START OF “EST
MOV 242, R oET MONITOP ACCRESS

BEQ 38 IF NONE

ISR 7.0, 55 T MONITOR

NOP

NOP

NOP

RTI

RTI :RETJRN TO PROGRAM FRCM TRAP
gég :guae,acsun -KILL LDUB OP LOOP ON SPEC. “ES”
SMPB  28SWR, ICNT :ON RIGHT TEST?  #SW7-C#
BEQ OVER

MOVE  J8SWR,R3 -GET UB BITS

{ DUB

ggg lSqu J8SkR :LOOP CN TEST
BIT ISHll S8SUR (KILL ITERRTICNS
ENE SRY

LAD
1ST ICNT+1 ,
BEQ 2$ :BRANCH IF FIRST
CMPE  TIMES, ICNT+l : DONE?
BNE KIT :BRANCH IF NOT
MOVE 8], ICNT+! :FIRST ITERATION
INCB xcﬂ :COUNT TEST NUMBERS
MOV :SAVE LOOP ADDRESS )
MOV ICN#,asc:spLav :DISPLAY TEST NO. AND ITERATIIN SN
RTI :RETURN

INCB ICNT+]

MOV IGNT,ZsDISPLAY ;SET UP DISPLAY
TST LRD (FIRST ONE®

BEQ Savirl

Mo «RE, .B. :FLCGE RgTJph RCORESS
TI FIfES FS



FO4 \

-ooEPh-B TEST OF _DEXP, STEXP MACY1L! 27:1732) 03-5eP-76 14:1C PAGE 44

]
OO OOIOIIOCIOOOO0OMIOOUIDIIOIICHICICIC N IICD  +=» -

1
1 ML* RICTINE ERROR TYPEOUT)
10566 032737 202007 1770 LIRP:  BIT 85410, 2#CuR :BELL ON ERROR®
15204 O rors 201000 B0 Ah . ree iM% RNEEL
‘ -1 / 18 wla :
13204 865084 811584 TYPE .§Yb£
10610 0OCY4767 000406 18: ISR PC,ERROR :COUNT THE NUMBER OF ERRCRS
10614 Q10446 MOV RY, -(b)
10616 032737 020000 1778TC BIT #Sk13, 98SKR :SKIP TYPEOUT IF SET
13g24 00107 BNE 4§
1626 00DOOM 011552 TYPE RETURN
D832 OlebNe 000002 MOV 2(B), =(b] -PUT ACDRESS OF INSTRUCTION o' 2™aAlw
10636 162716 000002 SuB 82, (b)
10642 011605 MOV 6} TTY -TYPE () IN OCTAL
10644 004767 000212 JSR 7, PRINTR : TYPE LERDING ZERO'S
10650 00004 0IISBG TYPE  ,SPRCE+3
10654 01000S MOV RO, TTY -TYPE RO IN OCTAL
10666 004767 000200 JSR %7 . PRINTR : TYPE LERDING JERG'S
10662 000004 0:15S61 TYPE SPACE +4
10666 012703 001202 MOV $ANSI,R3 ;ACORESS OF DATA |
10672 113604 MOVB  a(b)+.RY TAMOUNT OF CRTA ON TRBLE
10674 001426 BEQ 38
10676 100016 BPL 28 - TYPE STRCK®
10700 016667 0C000& 170074 MOV B:B), ANS:
10706 0le6b7 0000!0 170670 MOV 10(e),ANS2
10714 01667 0CCO12 17006+ MCV 12(6),ANS3
10722 0ie6b? 000014 170060 MOV 14(6)  ANSY
10730 042704 177600 BIC 8177600, Ry :CLEAR SIGN
19734 0OOCON 011561 cs: TYPE ;SPQCE*Q
19740 012305 MOV '35+ TTY - TYP c2)+ IN QGTAL
16742 004767 000114 JSR %7 . PRINTR :TYPE _ERCING CER.'S
10746  D0S30M DEC RY
010750 001371 BNE 2$
n:0752 005700 38: ST FPS
£10754 109016 BPL ug
010756 00000 011555 TYFE PACE
Ci0762 170367 170034 s7sT  PEC
210766 016705 170930 MCV FEC,TTY . TYPE FEC §~ NCTAL
010772 004767 0000EY JSR %7 . PRINTR : TYPE LERDING ZERC'S
210776 000004 011560 TYPE SPACE+3
01:002 016705 170016 MOV FEA, TTY -TYPE FER IN OCTAL
211006 004767 00COSC JSR %7 PRINTR : TYPE LERDING ZERC'S
211012 012604 43: MCY g3+ RY
0110j4 00S737 17757C TST J8SuR ‘HALY ON ERROR
011020 100001 8PL L +4 :SKIP IF CONTINGE
n11022 000000 HAL T :HALT ON ERROR!
Cii024 032737 001007 1°7s72 817 8SW09, JeSUR :CHECK FOR INMIBIT LOSF oM ERRZS
011032 001001 EBNE e :SKIP IF LOOP ON ERRCR
c1:034 000002 PTI
011036 10S067 167737 CLRB  ICNT+!
n1i04e 032727 00O8AC i77e7: BIT $SW08, JuSUR :CHECK FOR LORD MIZROBRERK
£1:250 001233 BNE KIT :BRANCH IF NOT
2i.082 113703 177872 MCVB  28SWR,R32 :PUT MICROBREAK ADDRESS IN &3
Z1inge 170003 LSUB :LOAD MICROBRERK
S..IEC orlee? gf B4 1 0JP ON TEST UNTIL NI ERRZRS



GO4

AJNDE <=1 1-CoFPR-B TEST OF LQEXP, STEXP  MACYI! 27.732) (03-SEP-76 i4:10 PAGE 45
R RIY AF¥AL DUREAE A NBRD
011062 112767 0000CI J00130 PRINTR: MOVB  #1,AuS ;SET ZERC FILL SWITZH
?r@ gao408 BR . +b
1187 067 000122 PRINTS: (LR A4S :SUPRESS LEADING ZER3°S
211076 llere? 17ror2 J00:1S MOVB  8-b,AYSe. :SET_COUNT
S11104 CI0u4 MOV RY, -8 :SAVE RY
J11106 012704 C1l212 MOV 23§ R4 :SET POINTER TO FIRS™ ASCII CHaFR.
0i11l2 105014 CLRB  (Y) :CLEAR FIRST BYTE
cIill4  00fuCs BR 2% :ROTATE FIRST BIT
ciiilb 105014 .3 CLRB (%) i CLERR BYTE OF CHARACTEF
Zi1120 006108 ROL TTY :RGTATE BIT INTC ¢
211122 106114 ROLB (¥ tPRCK IT
Z1l124 008105 ROL T :ROTATE BIT INTO ¢
311126 96114 A ROLB (%' tPACK 1T
011139 SJel10s z8: RAL TTY :RCTATE BIT INTC &
S11132 106114 ROLB 4. tPRCK 17
011134 105714 ST 4
Cl113e 0QI402 BES  +E
011140 106267 0QOCSH INCB  AuS .
011144 105767 DO0OCSO TSTB  Au§ PIHEDr Floo SwiTiM
011150 0Q1402 BEQ 4B
J11182 152724 0DQ060 BISBE 0, .4+ MAKE INTC ASSID Zees
0ill156 108267 000037 INC 484 ] )
Cl1162 001355 BNE 18 ;REPEAT
011164 022704 011210 CMP 23§, Ruy
011170 001002 , BNE .45
211172 112724 000063 MOVB  #°0. .4+
Ci1176 105014 CLRB (%)
C11220 0OCOO4 01:21° TYPE 3 :TYPE I7
Ji1204 012604 MOV 187+ Ry ;RESTORE R4
011206 000207 RTS PC
5:1210 0000% 38: BLKK 4
011220 000000 AYs: 0
11222 005267 0CO36M ERROR:  INC ERRORS ;COUNT ERRORS
011226 132737 (0031 00DOM: BITE  8l,a88] :AUTO MODE?
511234 D042 BEG 1§ :NQ?
011236 022767 000010 COO34E CMP 810, ERRORS 1700 MaNY?
C11244 001006 BNE 18 :NOT YET
011246 313700 0OCO42 MOV Je42, 60 ;GET ADDRESS
11252 001403 BEG 18 :FORGET IT IF ZERC
C112S4 00SG37 0C3CHE LR J842 :ZAP 42
C1126C 004710 JSR B, . :CALL THE MOMNITCR
CliZEz GCCES? .§: RS el : BETRN



HO4

MR sNDEC-11-D0FPA-8 rssr OF LDEXP, STEXP  MACYll 27(732) 03-SEP-76 14:10 PARGE 4&
DoERKE. Pl POWER DOWN RND 0P ROUTINES

11264 012777 Q11463 300306 POWDWN: MQV 8ILLUF, JUPVEC :SET FOR FAST UP
011272 012777 200340 009302 MOV 8340, a0PVEC+2  :PRIO:7

C11308 170246 STFPS  ~() :GET THE FPS
2113062 1700:1 SETD

C11304 174048 ST ACO, -(B) :SAVE RC'S

T11306 174146 510 ACl.-(&)

311310 174246 30 A2, -(p)

C11312 174346 510 AC3, -i(6)

S11314  17240M LDD ACY RCO

S11316  1TNOM6 STD ACO. -(§)

RT1320 172405 LDD ACS,ACO

311332 174046 STD ACO.- (6

A11324 010046 MOV RO,-(E) :SAVE RESISTERS
Gi1326 010146 MOV Rl.-(B}

611330 010246 MOV R2,-(&)

011332 010346 MOV R3.-(bJ

511334 DI10446 MOV R4, (B}

011336 010546 MOV RS,=-(B)

511340 010667 000220 MOV G, SAVES :SRYE SF

011344 Q012777 01134 20C226 MOV sPOWUP, SuPVE.  :SET JP VELTIR
011352 000000 HALT

011354 OI&706 000274 POWUP: MOV SAVES, SP -GET SP

0i!1360 DOSOCI CLR Rl ‘WALT LOOP FOR THE 7Y
£i1382 005291 18: INC k]

311384 001378 BNE 13

011366 012605 MOV (6)+,RS :GET THE REGISTERS
011370 012604 MOV (6i+. R4

011372 012603 MOV (6)+ R3

011374 012602 MOV (614 R2

011376 012601 MOV (6)+.R!]

011400 012600 MOV (§)+,R0

0114C2 17001! SET )
911494 172428 L (8)+,ACC :RESTCRE "HE AC'
01I4GE 174008 ST0 ACQ, ACS

011410 172426 LDD (6i+, ACO

211412 174004 STD ACO, ACH

011418 172726 LDD (6)+.AC3

011416 172626 L ()¢, AC2

011420 172526 LDD (6)+.AC]

0il422 172426 (E63+.ACC

011424 170126 LOFPS  (B)+ :RESTORE FPS
Pi1426 012777 0L1284 20C:42 MOV 8POLDWN, 3DWUNVEC :SET UP THE POWER DOWN VECTCR
Si1839 Q12777 02034c DO0:ia4 MCV 342, SCUNVEC +2

A11442 000004 DIINNE TYPE  ..+2 :.ASCIZ <15:¢12>“POWER"
Cl:4S€ 000202 RT!

c1:460 000000 ToooF: HALT :"HE POWER UP SEQUENCE WAS STRRES

Zileez Do07E gF -2 { BEFORE THE POWER DOWN WS coMPUETE

—— > bl A — - -
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Lo rroorses

-DFPR-8

010546
017605
B
14E335
100375
000770
1764
2%
022666
001006
062705
042705
0105kb

012605
006002

005015
Q15

000
J11564

0003002

177566
177564

23088

000002

00Cace
00300.
000002

200
g20012

000246
000C26
000026

S0C0CH

104

MACY1l 271732) 03-SEP-76 14:10 PAGE 47
ARER

STEXP
L DRATA
I07T: ~MAY TTY.-(6)
N 28 1Ty
18: 7978 (TTY)
BLG 23
ngvs TTY) 4+, 98177588
78T 38177584
BPL L)
BR 13
ce: MOV 35(6) -(b)
ADC 8 48)
CMP (6}+.206.
BNE 33
ADD 22,77y
BIC g:. 7Y
MOV T1Y.2.8!
3%: MOV {Bie, TTY
RT!
RETURN: .ASCIZ (15 12>
SPACE: .ASCIZ ~18:«.2°
.EVEN
SAVEG: O
FPTRDR: 172180
FPVELT: 244,246
DWNVEC: 24,26
JPVEC: 24,26
JIYPE: 0
TRPB: 0
LAD: ¢
ERRORS: O
TIMES: 377

:SAVE TTY
;GET ADDRESS TC BE TYPEC
: TERMINATOR?

{H 2R BB IR He QG ARACTER

:GET THE NEXT CHARACTER

250 5795 %he AoBRess
IS 1T +2°

‘NC
:ROD 2 7O THE RODRESS

:BRCK UP TO AN EVEN B/7E

:RESTORE ADDRESS
<RESTORE TTY
:RETURN

:RETJRN AND LINEFEES
:RETURN AND 3 SPRCES

:FLOATING POINT ADDRESS ON THE :. 20
'FLOATING POINT VECTOR ADDRESS
:POWER DOWN VECTOR ADDRESS

.POWER UP VECTOR RDDRESS

:LOGP RDDRESS
:ERROR COUNT
s ITEGRTION COONT



MAINDEC-11-DCFPK-B

DCFPKB.PIL
a.C =2.000000
Rel  =.02000C1
woz  =°.0000C2
ned  =%000003
o4 =%00000M
ATS  =%0000
ANR32 004170
#NR33 004310
RNREY 010104
ANRES 010230
&aNS1 001002
aNg2 001004
NE3 301006
ANSH £01010
ANSS g01012
ANSE 801014
ANE? 01016
ANSB 001020
=TT 011220
BEG 00102
BEGIN 00:06e
BELL = 000207
AT 0C1200
A7i0 001772
DATI1 002110
7. DGEe176
DAT12  D02314
TaTi4  GC0e2w3z
ATl aGec20
omTl ekl

39ls

Vool

1727
c¢360

9o
1208
393
706#
954
1696
3948

S84

S

g -

2383
xegg;

47o%
707%
1040%
1801 *
1098+
1869%
2357
2359
12198
1255s
cl4yy4s
clBls
479%
B48
BT4#
1049
1267%
1482
1771 %
1968
2193%
484
873
1024
1158%
1338
1941 %
1962%
2093

TEST OF LDEXP, STEXP
RJSS REFERENCE TRBLE -- USER SYMBOLS

S85#

7
lgie
*
1383
S0l#*
184
473
713
104]
1803*
1099
1870
2385¢%
2383#*
1231
1267
2156
2193
580
685#
87S
1070%
1268
1518
1772
1990+
2194
S12
908
1042*
1159
1375
1842*
1872
clic#
1342
2c75#%
1346
227b#%

c308#

c2lk
gesH

X))

1288

éa Cx

1959*
479
773%

c322¢
2216

MRCYL1 27(732)

blex

kot
é/?

éE?l

2323

JO4

03-SEP-76

B13%
74

1296 -

S35+

714

925+
1107
1333
15E5
1840#
20c8

596

107 1%
1189+«
1486
1872#
2002
2149
1463

1457

2326+

14:10 PAGE 49

bis
QoY +
1437%

2080

1252%
2029
535
838%
1364#%
2l4l®
1327%
1952

2337

669

1358*

2178%

254
110%
CSH#
839x
1370
2143
1333
2049+

Sg3#

752

QC4x
1136
1370%
1613
1870%
2058

652

13012
c022c*

18e?
1831

70#
9g2%
1444

2180

400#*
111
CG7%
84S
1S11*
2355
1474%
2Js0

68S

16%s

23583

1401 #
¢354
563
g9S#
1S]12#
2367%
475
2356k

735+

18440

2357#

1407

2388+
&40#
897+

1518

1481
c386#

T2 0= bt bt e
O L—0Ooor
niw -
(on ]
|

(9 ]

s P e
“JMUr= 0~)
wmru\ntg

7€!
t‘ag*
1¥ec
2359+
1E50+
§%47
953#
1630+

iE4s




\

\
\‘\ KDL* 14:10 PAGE SC

MAINCE. -1 1SD¢FPK-B TEST JF LDEXP. STEXP _ MACYI! 27.732, (3-SEP-76
SFoKB Fil CRJSS REFERENCE TRBLE -- USER SYMBOLS

OATIT 002676 832 895

DAT2 00126k 4g7s 500

DAT20 002766 9dls 92y

PAT21 003064 9c0y 953

Datee  Om3le? 798 982

DATe3 0032 10088 1011

DAT34 003356 10378 1040

DRT2S 03454 10668 1069

DAT3E 003552 10358 1098

SaTer 063650 112498 11g7

JAT3. 001354 Sece 508

ERI30  G0379% 1183 1156

RT3 0DH046 1183s 1186

SR8 OD4I4S 12138 1216

DRT33 004266 1943 12952

JATI4 004406 12858 1289

DAT35 004524 1322y 1326

DAT36 004642 13598 1363

DRT37 004760 13368 1400

DATH 001442 o3t 556

DAT40 005776 19338 1437

DAT4! 005214 14708 1474

DAT4Z 005332 15078 1511

DAT43  0OG450 15458 1E49

SAT44 005616 15928 1596

DATYS  DO576M 16398 1643

CATYS 0061 16858 1683

DAT47 00625 17228 1726

SATS 001530 cgls 584

DATS0  D03b6 17598 1763

DATS] 006506 17378 1801

CATS2 006626 18358 1839

DARTS3 006730 18658 1869

NATSH 007032 1895¢ 1899

LATEC 007134 1925¢ 1929

DPTSE 007236 1955¢ 1959

DATS7 007340 19858 1989

DATE 001616 6098 612

5ATe0 007442 20158 2019

DATEl 007544 20458 2049

ATe2 007646 20758 2079

DATE3 007752 21068 2110

CATEH 010056 21378 2141

DRTES 010202 21748 2178

CAT7 001704 378 B4 _

GISPLA= 177570 3768 2243 2aMTH

DOME_ 010322 22034

DWNVEC 011579 W4B% 443  2391% 23%2¢ 24238

ERROR 011222 225k 2339s
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FPIIl 002124 7078

FEIl2 002212 7368 747
FPI13 002330 7748 785
FPII4 002446 8118

FPIIS 002534 8398

FeIl6  002h2b 8683

FPI!7 002716 8978

FFI2_ 001302 S018

cri20 003007 9258

FPI2] 003100 g5us

FP122 003176 9838

£e123 003274 10128

FEI3y 003372 10418

FPI35 003470 1070#

Frigb 003566 10998

FPI2” 003664 11288
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JoFPKB.PLL

IONT C010CC
ILLUP Q11460
Kal 010540
LRD 011610
L0SC = 170008
LoJ3s = 170003
VFS = 170006

M.120 001054
N = 00006E

QVER 010544
P2 =%000007
POWDWN 011264
FOWUP 011354
PEINTR 011062
;RINTS 011072

177776
RETURN (011652
RO =%000000
Rl =%000001
ke =%000002
P3 =%000003
RY =%000004
) =%000005

Smvee  01!564
SAVLAD 010520
SCLPE = 104400

P =%000006
ZPACE 011555

STRC = 170025
€TQ0 = 170007
CWR = 17757C
cwOB = 000800
€436 = 001000
W10 = 002000
SWil = 004000
cule = 010000
SuW.2 = 020000

1410
1496
1602
1674
1778

1414
1516
1606
1694
1782

TEST OF LDEXP, STEXP
<ROSS REFERENCE TABLE -- USER SYMBOLS

MACY1l 27(732)

MOY

03-SEP-76

1447
1533
1623
1711
1816
1940
2084

ccHi*

S7¢28
97Cs
1387
1886

2eSb#

2305

1042
1931

2361
237 3%

2c30*
2es7

578
1393
1882
24174

2228

14:10 PAGE Se

600s
999%
14248
1916s

2334%

1071
2Cel

2380*
2379%
2378%
22hbx
cc70x

606
1005
1430
182¢

223C

£284
10284
14618
13468

2347%

1952

2232

6568
1057%
1498s
1976

2348%

2e34

1473
1568
1657
1744
1850
1974
cll8

2ey7

b94s
10364
1535
2006%

nyer—
Pt b
N
nao

2377%
2c92*

Us—r—
aoumno -3
— L JDD)
numue

nj
fu
un
fu

7228
11158
15828
2036%

nye—
—

2303

2258

(a8 4 W1y ey ey e
— OO0~V E
nNONOO™ N0
oo

7608
11448
16298
20668

2310#

767
1180
1636
2072

14%2
1580
1670
1774
1880
2004
21t4

7384
11748
1676%
23973

2328

204
1180
1682
2103

2290




NO4

MAINDEC-11-DCFPK-B TEST OF LDEXP, STEXP  MACY1l 27(732) 03-SEP-76 14:10 PAGE 53
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SWl4 = 040000 3988 2232
§415 = 100009 3974
TIMES  Dilbld 2238 2429
TRPE  01i60s 2a11x  2uges
IST1 001208 47 4718
1STI0 00177 BEM  bbES
18711 002114 701 7058
18712 002202 730 7393
18713 092320 768 7723
STIH 002436 85  £09s
5715 00252y 833  837s
18716 002612 Bbl  B6SS
15717 002702 890 839
1872 001272 495 439y
18720 002772 913 923k
'S121 003070 g 3508
15122 003166 977 9813
15123 003264 1006 10108
75704 003362 1035 1039s
18125  DO3460 1064 10688
T5T26 003556 1093 1097%
TST27 003654 1122 11268
1813 001360 Se3 5278
TST30 003752 1151 11558
TST31  OQHOS? 1181 1185
18732  0Q4182 1211 1215k
15133  0Q427¢ 1247 12518
TSI34 004416 1983 1282w
TST35 00453y 1320 13258
TST3h 00452 1357 1362w
18737 004770 1334 1399
TSTH 001446 551  5Sos
TST40 005106 1431 1436
15141 005224 1468 14738
7ST42 005342 1505 15108
15143 0QS4ED 1543 1548
5T44  GOSbed 1590 15958
TST45 005774 1637 16428
TST4E  D0Bl42 1683  1&86w
TST47 006260 1720 17254
1375 0OIS3Y 573 583
15150 G0E375 1757 17628
18781 006516 {735 18008
15752 006b36 1833 1838
15153 006740 1863 1868
75754 007042 1293 13984
1STEC 007144 1823 19264
18766 0072v'S 1553 15588
13157 007350 1883 1338
1876 00l1k22 07  6li4
TSTEQD  0074Se 2013  20i8s
YSTEl  DO7S5M 2043 2048k
78762  D07BSE 2073 20784
1S1E3 007762 2104  2109%
TETE4 010086 5135 21408
1eTes 010212 2172 2177
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MEINJES-11-00FPh-8 TESY JF LDEXP, STEXP MACYll 27.732) 03-SEP-76 i4:10 PRGE S9

NI CROSS REFERENCE TRBLE -- PERMANENT SYMBOLS
o2 1289 1326 1363 MO0 I437 1474 IS11 1549  [59 1643 1689 1726 1763  iBC. 1323
;gse éegg éeaq éesa 1989 2019 2049 2079 2110 2!41 2178 2357 2353 2382 2384
LIENE 453 Ll 338 EE? 58S 613 B4l 670 707 73 774 8!1 839 Beg 897
1290 1327 1364 1IN0l 1438 1475 1512 1SS 1537 g4 1§;g 1727 1733 1821
e w2  B50 828 556  SBY  b12 640 BB 706 35 gl '8 E 895
. 24 963 982 101} 1040 1069 1098  1lg7 1;5& 18 1216 1:55 )
oFss -": 439 ge’ 585 583 611 639 668 oS 734 72 Ed 837 865 93+
323 35 g8y  (A1A A58 -%c@ 1pg? 1136 p1EE [1BS (21 1251 1268  .3g8  .3k:
-338 1436 1473 1510 1548 1595 1642 168 1725 Libe 15ue lgaz ctis $33% J3:z2
. :g§§ éggg 2018 2048 2078 2193 eId0 2It? 3%
R 436 437 439 yy2 44s 446 447 449 449 452 45! 452 453 454 455
486 4E7 7 896 326 955 984  10:3 1042 1971 1150 1128 158 1182 .138
113 1224 1231 12860 1267 17B4 1802 1841 1871 1301 1331  i%) 1991 302 208,
N8l 2083 e2Il2 2Il4 2149 2156 2iBe 2193 2220 2214  22.6 2217 2242  22M 2247
3860 goS4 2267  g2el 2283 @26k 2269 273 g7 gers g2t 2279 2287 2290 g2%2
2309 £310 2333 2344 o349 2380 2361 2.2 £33 2364 2385 23k 2367 2385 337
2378 23 8377 2378 2379 £280 2390 2292 233 2399 406 2412 2413
M3v8 2230 2eM0 2270 2302 2306 2308 22 2%e2
NoP oor0 el  eoze
RL 2314 23l 23.8
RILE 23ls 2317 2319
RT 421 2223 2224  e2M4 225! 2298 2394 24l
g 2334 2348
SETC 232 2381 ) ] .
i 1286  [333 1370 1407  I444 148! 1518  1SeS 1812 1859  l&%  ITI3  F7i 180§ 3383
_ 2364 235 2386 23B@ 2360 2383 2385
STEXP 525 ey 983 1012 1041 16T 1099 12 11S? 1187 12:2 1254 1380 187 18T
- 13;8 1333 1egg eogg aggc 209q aéii aéga e;gg . mog . = - -
- { { 4 ¥ 4
E-roc 418 374 92 gac ssé %és 614 &4 821 73é rgf 5?5 313 42 3;3
B3 928 7 986 1015 1044  iG73  1IC 1}31 118l a:91 i3ze i3R2 133 :==§
136€ 1402 1439 476 1813 1SSl 1598 &M 1631 1728 i%e  I83% BT iFY IFE
1833 {963 1983 2023 2083 2084 £iiS  elsl 2189 238!
=T 419 &7 738 776 1852 1592  le4e 2286
<. 22be
RAP 377
57 428 224 2283 2292
*§78_ _ 223 2320 £3e3 2430 2403
.HSC1Z §394 é c417
Blrks 233k
ENRBL 372
JEND 2430
ENCC <E4 475 479 492 533 507 520 €3] 535 548 559 S&3 ST 597 €31
604 18 619 632 E43 47 g€l ¥k 68S 698 723 o13 a7 ~35 =21
7ES 777 789 802 B13 817 830 841 845 858 873 974 gaT 333 323
329 923 68 9&2 987 93: 1016 1920 108 1849 1079 1278 1la3  ilgt 1132
1136 12 1lBe 192 119 1227 123l 1263 lee? 1280 1292 1a% .30 1329 1333
384 136 1376 1391 1403 1407 1428 1440 1844 {468 1477 148. 1802  ISI4  IEIS
€40 18€a 1te€  18@7 1800  1el2 1634  le+? 1859 188D 1892 6% ITi¢ ir29 1733
3% 1%E7 1771 1792 g2 (809  IBMM 1848 18”4 1878  19C+ 1308 I3 1338 13
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MmINCES-LL-O0FPA-B TEST JOF LDEXP, STEXP MACY1l 27(732) 03-SEP-76 i4:10 PAGE &0
SIFe 3R CRSSS REFERENCE TRBLE -- PERMANENT SYMBOLS
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_ <394 20eu 2JsM 2085 ellé else 2185
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REM 331
.REFT 2 412
.SETT 327 3re 422 “gC 2252 2282 238 2343 2338
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